Education Consultant India Ltd.

Notations :
1.Options shown in green color and with ¥ icon are correct.

2.0ptions shown in red color and with * icon are incorrect.

Question Paper Name : Physical Education Male
Subject Name : PGT- Physical Education (Male)
Creation Date : 2021-06-29 17:42:52
Duration : 180

Total Marks : 300

Display Marks: Yes

Share Answer Key With Delivery Engine : No

Actual Answer Key : Yes

Calculator : None

Magnifying Glass Required? : No

Ruler Required? : No

Eraser Required? : No

Scratch Pad Required? : No

Rough Sketch/Notepad Required? : No

Protractor Required? : No

Show Watermark on Console? : Yes

Highlighter : No

Auto Save on Console? ( SA type of questions will be always auto saved ) : No

Mental Ability

Group Number : 1
Group Id : 600929330



Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No
Mental Ability

Section Id : 600929485

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1

Sub-Section Id : 600929577

Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 6009299242 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the missing term in the following letter series:

DMN,  ,FQR,GST
Options :
A. ¥ EOP
B. # AOP
C. * EFG
D. # STU



Question Number : 1 Question Id : 6009299242 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafaRad SR gua o g« Ug 31

DMN,  _FQR,GST
Options :
A. ¥ EOP
B. % AOP
C. # EFG
D. # STU

Question Number : 2 Question Id : 6009299243 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the missing term in the following series:

A9D, | I81L, M243P
Options :

A. * F45G

B. ¥ E27H

C. % F28H

D. ® E45G

Question Number : 2 Question Id : 6009299243 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faferiRad e & Jud ue J1d e

A9D, , I81L, M243P
Options :
A. * F45G




B. ¥ E27H
C. # F28H
D. * E45G

Question Number : 3 Question Id : 6009299244 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is
different from the rest.

Options :
A. * Lion
B. # Fox
C. ¥ Spider
D. # Tiger

Question Number : 3 Question Id : 6009299244 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

A. % TR

B. % dHS!

C. ¥ Hbs!

D. # dY

Question Number : 4 Question Id : 6009299245 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is
different from the rest.

Options :
A. #* Doctor : Stethoscope



B. * Painter : Paint brush
C. ¥ Farmer : Field
D. #* Writer : Pen

Question Number : 4 Question Id : 6009299245 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T e fawed & 9 & Te [y e & 90 § | 8TalD, Uh [Awed o1 i &1 dve ol ¢ | 34 [dded &1 78 B oIl 3 ¥ 3T g
Options :

A. % [RIfbdd : LURDIU

B. % REFPR : Ue =0

C. ¢ foum . @d

D. % oG : HeH

Question Number : 5 Question Id : 6009299246 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is related to the third term on the same basis as the second term is related to the first term

India : New Delhi :: Australia : ?
Options :

A. # New York

B. # Melbourne

C. ¥ Canberra

D. # Paris

Question Number : 5 Question Id : 6009299246 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

A. ® JhiD
B. ¥ ATdH
C. ¥ HAR
D. ¥ U9

Question Number : 6 Question Id : 6009299247 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the pair that is related on the same basis to the pair given in the question.

Christians : Christmas :: ?
Options :

A. # Sikhs : Holi

B. ¥ Muslims : Eid ul fitr

C. # Hindu : Gurunanak Jayanti
D. * Muslims : Raksha Bandhan

Question Number : 6 Question Id : 6009299247 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
A. % {59 . et
B. ¥ TUAHM : 3¢ 3d A

C. ¥ g5 : TS Sl
D. ¥ TYTHM: & g4

Question Number : 7 Question Id : 6009299248 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, if SECTOR = 82, TANKER = 93, how will PLASTER be coded as?
Options :

A. ¥ 98

B. # 91

C.# 95

D. # 93

Question Number : 7 Question Id : 6009299248 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U (Af3d &g WIS H, IfE SECTOR = 82, TANKER = 93, PLASTER 1 $¥ hifSd fobdl STam?
Options :

A. ¥ 98

B. # 01

C. %95

D. % 93

Question Number : 8 Question Id : 6009299249 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language, if chlorine is called fluorine, fluorine is called iodine, iodine is called oxygen, oxygen is called nitrogen, and nitrogen
is called hydrogen, then what do humans breathe in and which is carried by the red blood cells?

Options :

A. ¥ Nitrogen
B. # Jodine

C. % Hydrogen
D. ® Oxygen

Question Number : 8 Question Id : 6009299249 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

A. ¢ 1S

B. % 3NfEA

C. ¥ gISsroH

D. % 3o

Question Number : 9 Question Id : 6009299250 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A team of five has to be selected from among five boys Ross, Joey, Chandler, Mark, and Richard and four girls Phoebe, Monika, Rachel and
Janice.
Some selection criteria are:

1. Ross and Janice have to be together.

2. Phoebe will not be in the same team as Rachel.

3. Mark and Monika will not be in the same team.

4. Chandler and Richard have to be together.

5. Rachel cannot be with Joey.

If Rachel is one of the members, the other members of the team will be:

Options :

A. #* Phoebe, Janice, Ross, Mark

B. * Monika, Janice, Ross, Mark

C. % Monika, Janice, Chandler, Richard
D. ¥ Janice, Ross, Chandler and Richard

Question Number : 9 Question Id : 6009299250 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

A. * GBI WY, 9, 71D

B. ® MfAwr, B9, I, ATh

(o

D. ¢ WA, 39, JSeR iR =g

Question Number : 10 Question Id : 6009299251 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The father of Pradeep is the son of Rahul. Mohan is the paternal uncle of Pradeep and Rahul is the brother of Nilesh. How is Nilesh related to
Mohan?

Options :

A. # Brother

B. # Son

C. ¥ Paternal uncle
D. #* Father

Question Number : 10 Question Id : 6009299251 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T 3 T Tge & U 1 e Uiy & 91 & SR g e 1 uiE ¥ 1 e, Mg @ 5 e 2
Options :

A %Y

B. # Ud

C. ¥ d[dl

D. ® O



Question Number : 11 Question Id : 6009299252 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the question, two statements are given, followed by three conclusions, I, II and III. You have to consider the statements to be true even if it
seems to be at variance from commonly known facts. You have to decide which of the given conclusions, if any, follows from the given
statements.

Statement 1: Some dancers are singers.
Statement 2: All singers are actors.

Conclusion I: Some actors are dancers.
Conclusion II: All actors are singers.
Conclusion III: Some singers are dancers.

Options :

A. ¥ Only I and III follows
B. # Only II follows

C. # All the three follows
D. #* Only II and III follows

Question Number : 11 Question Id : 6009299252 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

A. ¢ Had [ 3R 111 3FIER0 BT §
B. ® ohqd II 3IERUI Hdl g

c. % Pt 9 sgRur va §




D. % Had I 3R 111 3ITRI HRl §

Question Number : 12 Question Id : 6009299253 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In this question, a statement has been followed by two assumptions numbered I and II. You have to decide which of the assumption is implicit.

Statement: If he is hardworking, he will get success.
Assumptions:

I. To get success, he must work hard.
I1. He will get success.

Options :

A. ¥ Only I is implicit

B. ¥ Only II is implicit

C. % Both I and II are implicit

D. # None is implicit

Question Number : 12 Question Id : 6009299253 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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B. # &ad 11 fAfed §

C. # 13RI AlRas




D. ¥ $Is Migd 18l g

Question Number : 13 Question Id : 6009299254 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is related to the third term on the same basis as the second term is related to the first term

12:121::19:7?
Options :
A. % 289
B. % 192
C. ¥ 324
D. # 234

Question Number : 13 Question Id : 6009299254 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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12:121::19:7
Options :
A. # 289
B. # 192
C.v¥ 324
D. # 234

Question Number : 14 Question Id : 6009299255 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
On reversing the given numbers, which of the following will be the middle digit of the second highest new number?

235, 589, 156, 947, 522
Options :



A *8
B. ¥ 4
C.#3
D. *5

Question Number : 14 Question Id : 6009299255 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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235, 589, 156, 947, 522
Options :

A #8

B. ¥ 4

C. %3

D. %5

Question Number : 15 Question Id : 6009299256 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the following diagram, square represents police officers, triangle represents married people and circle represents tall people. Then unmarried
police officers who are not tall is represented by:

Options :
A.¥S



B. =T
C.=U
D. = Z

Question Number : 15 Question Id : 6009299256 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
A.¥S
B.* T
C.#®U
D. ® Z

Question Number : 16 Question Id : 6009299257 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Refer to the Venn diagram and find the number of students who took any three of the subjects:



Biology

Maths Physics

Chemistry
Options :
A ® 42
B. ¥ 66
C. % 67
D. ¥ 45

Question Number : 16 Question Id : 6009299257 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

A ¥ 42
B. ¥ 66



C. # 67
D. * 45

Question Number : 17 Question Id : 6009299258 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, figures A and B are the starting and ending pattern of a series. Out of the five figures, named 1 to 5, one of the figures does
not fit in the series. Find the number of the odd figure.

| o | e |

A 1 2 3 4 < B
Options :

A. ¥4
B. %5
C. %3
D. %1

Question Number : 17 Question Id : 6009299258 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

A. ¥4
B. ¥ 5




C.#3
D. ® 1

Question Number : 18 Question Id : 6009299259 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A set of six figures is given, the first of which is unnumbered and represents the beginning of the series. The series will be established if the
positions of two figures are interchanged. The number of the earlier of the two figures is the correct answer.

e &

Options :
A. %4
B. % 2
C. %1
D. ¥ 3

Question Number : 18 Question Id : 6009299259 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
A. %4



B. # 2
C.#1
D. ¥ 3

Question Number : 19 Question Id : 6009299260 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A paper is folded and punched as shown in the figure. Choose the figure which closely resembles the unfolded form of figure Z.
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Question Number : 19 Question Id : 6009299260 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Question Number : 20 Question Id : 6009299261 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Three different positions of the same dice are given below. What number will be opposite to 3?



ey Py Vi

5 3 3

Options :
A ®5
B. ¥ 4
C.%6
D. # 2

Question Number : 20 Question Id : 6009299261 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
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5 3 3

Options :
A #5
B. ¥ 4
C.%6
D. ¥ 2

General Awareness

Group Number : 2
Group Id : 600929331

Group Maximum Duration : 0
Group Minimum Duration : 0



Show Attended Group? : No

Edit Attended Group? : No
Break time : 0

Group Marks : 20
Is this Group for Examiner? : No

General Awareness

Section Id : 600929486
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 600929578
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 6009299262 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is a typical ballad of Bundelkhand which narrates the heroic deeds of two warrior brothers who served Raja Parmal of Mahoba.
Options :
A. * Barhamasa
B. ¥ Alha
C. # Mando
D. # Lotia

Question Number : 21 Question Id : 6009299262 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
A. ® dRGHMNT
B. ¢ 3fTcgl
C. % Higl
D. % difedn

Question Number : 22 Question Id : 6009299263 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following monuments was built by Sawai Pratap Singh?
Options :

A. #¥ Mehrangarh Fort

B. ¥ Hawa Mahal

C. ® Purana Quila

D. # India Gate

Question Number : 22 Question Id : 6009299263 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafeiad 7 @ o I WRe gars ydy Rig gRT s=amm T4 U
Options :

A. * TEITTG g

B. ¥ &A1 HEd

C. ® QRMI fdar

D. % 3fsTriie

Question Number : 23 Question Id : 6009299264 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is defined as excess of total budget expenditure over total budget receipts excluding borrowings during a fiscal year.



Options :

A. # Primary Deficit
B. ¥ Fiscal Deficit
C. # Revenue Deficit

D. # Fiscal Surplus

Question Number : 23 Question Id : 6009299264 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

A. % Ui 9TeT

B. ¥ SIS 1T
C. % XeIRg YIcT

D. ¥ BN Y

Question Number : 24 Question Id : 6009299265 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

As announced in the Budget 2021, Deposit Insurance and Credit Guarantee Corporation (DICGC) is permitted to increase deposit insurance
coverage from Rs 1 lakh to Rs

Options :

A. % 2 lakh
B. # 3 lakh
C. # 4 lakh
D. # 5 lakh

Question Number : 24 Question Id : 6009299265 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

A. %27
B. # 34
C. % 44
D. ¥ 5¢ld

Question Number : 25 Question Id : 6009299266 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following layers of atmosphere rises due to the presence of ozone?
Options :

A. # Mesosphere

B. ¥ Stratosphere

C. # Exosphere

D. # Ionosphere

Question Number : 25 Question Id : 6009299266 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gHed & AEfaRad B 3 &F I IR Siiel- &1 IufUfd & HRU SHWR I3 52
Options :

A. * HYHUSA

B. ¥ JHAUHUSA

C. % dlgIHUSA

D. ¥ 3fTTHSA

Question Number : 26 Question Id : 6009299267 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Sonalika and Kalyan Sona, introduced in 1963, are High Yielding Variety (HY'V) seeds of which of the following crops?
Options :



A. ¥ wheat
B. # maize
C. * barley

D. # rice

Question Number : 26 Question Id : 6009299267 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
A VTG
B. % Hddh]
C. % S
D. ® =Idd]

Question Number : 27 Question Id : 6009299268 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following rivers is also known as the 'twin' or 'handmaid' of the Narmada?
Options :

A. * Mabhi

B. ¥ Tapti

C. # Sabarmati

D. # Luni

Question Number : 27 Question Id : 6009299268 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafied & ¥ ford 7t &1 e &1 'Jear a1 gRir & =0 H off S STl 82

Options :

A. % H1gl




B. ¢ ATl
C. % IR
D. # At

Question Number : 28 Question Id : 6009299269 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following oceans includes the Baltic Sea?
Options :

A. ¥ Atlantic Ocean

B. # Indian Ocean

C. # Arctic Ocean

D. # Pacific Ocean

Question Number : 28 Question Id : 6009299269 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofefed & 3 f5g agR # Sifccs IR Wi g2

Options :

D. * URIT-d HEATR

Question Number : 29 Question Id : 6009299270 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
When did the Khilafat Movement start?
Options :

A. % 1918

B. ¥ 1919



C. #1920
D. # 1921

Question Number : 29 Question Id : 6009299270 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
IR d STcIa S L= g
Options :

A. % 1918

B. ¥ 1919

C. %1920

D. # 1921

Question Number : 30 Question Id : 6009299271 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
was succeeded by Chakravarti Rajagopalachari who became the first Indian Governor-General of Independent India.

Options :

A. # Lord Wellesley
B. # Lord Curzon

C. # Lord Hastings

D. ¥ Lord Mountbatten

Question Number : 30 Question Id : 6009299271 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ashad! ASANUTATAR] BT STRIABRI ¥ Sl Tl HRA & Ugd YR HRISAUTe s |
Options :

A. ® QS dera!

B. % dls doH

C. ® Al gRé™



D. ¢ dis ANScecH

Question Number : 31 Question Id : 6009299272 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following Governor Generals opened first telegraph line from Calcutta to Agra in 1853?
Options :

A. # Lord Hastings

B. ¥ Lord Dalhousie

C. #* Lord Wellesley

D. * Lord Curzon

Question Number : 31 Question Id : 6009299272 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraferRed & ¥ fbd HegRIUUTe A 1853 H el U 3R A Uil el drs @it i
Options :

A. * dis gie™

B. ¥ die SagIoll

C. % s dawah

D. % @IS oM

Question Number : 32 Question Id : 6009299273 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who is the Chief Minister of Puducherry as of 8th May 2021?
Options :

A. ¥ N. Rangasamy

B. # Velu Narayanasamy

C. #* Tamilisai Soundararajan

D. # Kiran Bedi



Question Number : 32 Question Id : 6009299273 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

8 T3 2021 9P ISR & T ®IH 82

Options :

A. ¢ T, JTRATH!

B. ¥ dq] RO

C. % TR Yoo
D. % fHur 3

Question Number : 33 Question Id : 6009299274 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following won the Best Actor (Male) award at the 11th Dadasaheb Phalke Film Festival 20217
Options :

A. # Ajay Devgn

B. # Amitabh Bachchan

C. ¥ Akshay Kumar

D. # Rajkummar Rao

Question Number : 33 Question Id : 6009299274 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafed § § foem 119 qeNRe Wiad hed TARIE 2021 T T3 ST (J3Y) &7 REBR Sidr?
Options :

A. % 3T G

B. % S{fHdY S

C. ¥ &g PHR

D. # SHHR T



Question Number : 34 Question Id : 6009299275 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Union Minister of Education, Ramesh Pokhriyal, has launched 'Nishank' world's first affordable and long-lasting hygiene product DuroKea
Series in April 2021. It was developed by researchers.

Options :
A. ¥ Indian Institutes of Technology, Hyderabad

B. # Indian Institutes of Management, Bangalore
C. # Indian Institutes of Technology, Kharagpur

D. # Indian Institutes of Management, Calcutta

Question Number : 34 Question Id : 6009299275 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g fRren 1R, 0w oraRaTd 7 3id 2021 H FARie gHa1 H1 Ugd fhwrd aul dd THg 9 I+ dlal W[awadl IdTG gRidSHT YRS
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Options :

A. ¢ YR U GRIM, §ar1dTg

B. % YR &Y TR, dTTeR

C. % YR Ut TR, TSTR

D. ¥ YRAI Y'Y TR, Heidhl

Question Number : 35 Question Id : 6009299276 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The first-ever electric tractor in the country has been tested at the Central Farm Machinery Training and Testing Institute in in
April 2021.

Options :

A. # Tamil Nadu

B. ¥ Madhya Pradesh
C. ¥ Delhi

D. ¥ Maharashtra




Question Number : 35 Question Id : 6009299276 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

A. % ARG

B. ¥ AL X

C. * faeaht

D. * HeRIY

Question Number : 36 Question Id : 6009299277 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Government of Himachal Pradesh reiterated its commitment to achieve 'Har Ghar Jal' target by
Options :

A. ¥ May 2023

B. # August 2024

C. #* June 2025

D. % July 2022

Question Number : 36 Question Id : 6009299277 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

R U= TRHR A TP TR R A AT SR B B 3O Riasd QT
Options :

A. % 7% 2023

B. % 3T 2024

C. ® 2025

D. ¢ TS 2022



Question Number : 37 Question Id : 6009299278 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Panchayati Raj was introduced by the Constitutional Amendment Act of 1992.
Options :

A. % 68th

B. ¥ 73rd

C. # 82nd

D. # 56th

Question Number : 37 Question Id : 6009299278 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Tl ST b 1992 B HauTfe I=ne rfafrae grR o= fasam mam o)
Options :
A. % 68d
B. ¢ 73d
C. ® §2d
D. ¥ 56d

Question Number : 38 Question Id : 6009299279 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The first Union Budget of Independent India was presented by

Options :

A. # Chintaman Dwarkanath Deshmukh

B. ¥ Jawaharlal Nehru

C. # John Matthai

D. ¥ Ramasamy Chetty Kandasamy Shanmukham Chetty

Question Number : 38 Question Id : 6009299279 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

WTdd HRA &1 Ugdl ST doic SR IR T 7T T
Options :

A. ¥ TR0 GRS GREE

B. ¥ TAERdld 1%

C. % S AYRE

D. ¢ A =gt bl ey gl

Question Number : 39 Question Id : 6009299280 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Asian Boxing Confederation (ASBC) has decided to conduct the upcoming 2021 edition of the ASBC Asian Elite Men and Women Boxing
Championships in

Options :

A. * Hong Kong

B. ¥ Dubai

C. * Delhi

D. * Bangkok

Question Number : 39 Question Id : 6009299280 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TRMATE gadaro! IRy 7 ASBC TRME St Yoy 3R Hiedl Jadbarsit dfUg-RIg & ST 2021 WXHR0T &6 o T HxA
&1 ol feran g1

Options :

A. ¥ BRI DI

B. ¥ &8s

C. # faeeht

D. ¥ d®id

Question Number : 40 Question Id : 6009299281 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Who among the following won the 2021 Rolex Monte Carlo Masters singles title?
Options :

A. ¢ Stefanos Tsitsipas

B. ¥ Daniil Medvedev

C. # Roger Federer

D. # Rafael Nadal

Question Number : 40 Question Id : 6009299281 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad & 9 fobe 2021 At Hie Bral AReH Uahd Radre St
Options :

A. ¥ LB R

B. * Sfd fgdda

C. ¥ AN BER

D. # XWIU TsIdd
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Question Number : 41 Question Id : 6009299282 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the least number that should be added to 2000 such that the number is exactly divisible by 7, 9, 20 and 24?
Options :

A. % 160

B. # 320

C. ¥ 520

D. # 640

Question Number : 41 Question Id : 6009299282 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AT AT I It 7 S 2000 T 39 UHR SHST o1 91T foh 98 T-AT 7, 9, 20 3MR 24 § gufd: favifora g
Options :

A. # 160

B. # 320

C. ¥ 520

D. # 640




Question Number : 42 Question Id : 6009299283 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the value of: V(9+V(33+V(225+V961)))
Options :

A #3

B. ¥ 4

C.®5

D. # 6

Question Number : 42 Question Id : 6009299283 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T J1d B V(O+V(33+V(225+V961)))
Options :

A. %3

B.¥ 4

C.%5

D. * 6

Question Number : 43 Question Id : 6009299284 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A jogger jogs for 6 kms in 30 minutes on one day and for 15 kms in 1 hour and 30 minutes on the second day. Find his average jogging speed of
the 2 days.

Options :

A. ¥ 10.5 kmph
B. % 9.6 kmph
C. # 12.6 kmph
D. * 15 kmph



Question Number : 43 Question Id : 6009299284 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T SR Ugd &9 § 30 fiFe § 6 kms 3R &R &7 1 62 30 M & 15 kms P1 SIS A1 81 391 2 a1 ) 3iga grs 7ifa I |
Options :

A. ¥ 10.5 kmph

B. ¥ 9.6 kmph

C. % 12.6 kmph

D. # 15 kmph

Question Number : 44 Question Id : 6009299285 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The tax rate on an item was 18% and the price after tax was Rs 6608. By how much should the price be increased so that the price after tax does
not change if the new tax rate is 12%?

Options :

A. ¥ Rs 280
B. ¥ Rs 320
C. # Rs 400
D. ¥ Rs 300

Question Number : 44 Question Id : 6009299285 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

THh TG W IR BT R 18% A SR TR & 918 BT Jed 6608 ¥UT At | T T o1l gl Bt ST A1 A1 R & 916 & Yod | Sqalld - 3,
i 78 PR 12% 82

Options :

A. % 280%UU

B. # 320%UU¢

C. ¥ 400 ®UU

D. # 300 %UUQ




Question Number : 45 Question Id : 6009299286 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A good costs Rs 100 to make. It is sold to a retailer at a profit of 50% on cost and then the retailer sells it to the customer at a profit of 25% on the
selling price. What is the price at which the customer buys it?

Options :

A. ¥ Rs 200
B. # Rs 240
C. # Rs 160
D. ¥ Rs 250

Question Number : 45 Question Id : 6009299286 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP I B & H 100 3T BT T 811§ | S FaxT fachdl DI AT TR 50% P ATH TR 91 offdll § 3R O GaT faohar 39 o g R
25% & Y TR ATEH B! 39 g | ford Yo IR AT 38 /ledl &7

Options :

A. ¢ 200 ¥UY

B. % 240 30T

C. % 160 37T

D. % 250 3qT

Question Number : 46 Question Id : 6009299287 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A vendor expects a profit of 32% on cost. If his weekly sales were Rs 29,700, then find his profit?
Options :

A. % Rs 3600

B. # Rs 5400

C. % Rs 10800

D. ¥ Rs 7200



Question Number : 46 Question Id : 6009299287 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T fashdl ANTA UR 32% & ATH BT SUST R 5| G ST ATTgdb fash 29,700 Y 2R, Tl IHHT AH J1d B2
Options :

A. * 3600 247

B. #* 5400 >UUd

C. # 10800 ®UU

D. ¥ 7200 >UU

Question Number : 47 Question Id : 6009299288 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The cost price of 28 toys is equal to the selling price of 20 toys. Find the profit percent.
Options :

A. % 33.33%

B. ¥ 40%

C. ® 44.44%

D. * 50%

Question Number : 47 Question Id : 6009299288 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

28 FRIQ! &1 AT G 20 FEQH1 o fasha T & SRT6R © | A1y Ufa=Td I1d & |
Options :

A. * 33.33%

B. ¥ 40%

C. ® 44.44%

D. * 50%

Question Number : 48 Question Id : 6009299289 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

A sum of money is to be distributed among W, X, Y and Z in the ratio of 17:18:19:20. If Y gets Rs 500 more than W, then how much does Z
receive?

Options :

A. ¥ Rs 5000
B. # Rs 4000
C. % Rs 4500
D. # Rs 3500

Question Number : 48 Question Id : 6009299289 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
\%N, X, Y 3R Z & 1 17:18:19:20 & STUTd & YRIRT faaid &1 ST 81 3fS Y B w T 500 0T 31fees firerd €, df Z &1 fasa1 UTed g
?

Options :

A. ¥ 5000 ¥UUQ
B. # 4000 ®4UUQ
C. % 4500 >4U¢
D. # 3500 %UU¢

Question Number : 49 Question Id : 6009299290 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

X can cover a distance in 20 minutes and Y can cover the same distance in 36 minutes. Find the ratio of their speeds.
Options :

A. ¥ 9:5

B. # 8:5

C. % 58

D. # 5.9

Question Number : 49 Question Id : 6009299290 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
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Options :

A. ¥ 9:5

B. # 8:5

C. # 58

D. ® 5:9

Question Number : 50 Question Id : 6009299291 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A sum of money is lent at 25% per annum on compound interest. What is the ratio of increase in amount from the 8th year to 9th year?
Options :

A. ® 43

B. # 4:5

C.¥ 54

D. # 3:4

Question Number : 50 Question Id : 6009299291 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP YRIRI DI Ahqfes TS TR Uiy 25% Bi ax I SUR [T A ¢ 1 89 a¥ & od I qob AT H gig BT uTd 1 82
Options :

A. % 43

B. # 4.5

C.¥ 54

D. % 3:4

Question Number : 51 Question Id : 6009299292 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
X invested Rs 20,000 in a company that gives out 10% returns and X decided to re-invest the returns in the company. What is the value of his



investment at the end of the 2nd year after receiving the interest for the 2nd year?
Options :

A. ¥ Rs 24,200

B. # Rs 24,000

C. % Rs 24,400

D. # Rs 26,400

Question Number : 51 Question Id : 6009299292 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

X 7 10% et & areft a9 H 20,000 $UT &7 =7 fordm SR X A 601 H e &1 GA:a%1 - &1 Shaya fohar| 2% 98 & g sare ure
B P 918 23 I8 & 3fd H IYP A% BT Hed 12

Options :

A. ¥ 24200 3T

B. % 24,000 Y

C. % 24,400 ¥UT

D. % 26,400 ¥UU

Question Number : 52 Question Id : 6009299293 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The speed of a police van is 30 kmph faster than a car. The car takes 2 hours to cover same distance while the police van requires 90 minutes.
Find the speed of the car.

Options :

A. ¥ 90 kmph

B. ¥ 75 kmph

C. % 60 kmph

D. # 120 kmph

Question Number : 52 Question Id : 6009299293 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



TH 31 &1 T1fd T HR &1 1A 30 kmph 091 § | HR B TAF g3 09 B3 H 2 B¢ A § STafd Yferd 9 & 90 FFe &t sra=adhar
Bl 81 PR DI T1id 1 PR

Options :

A. ¥ 90 kmph

B. # 75 kmph

C. % 60 kmph

D. # 120 kmph

Question Number : 53 Question Id : 6009299294 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A man travels from X to Y which are 450 kms apart in 8 hours. He travels back at the speed of 45 kmph. Find his average speed of the journey.
Options :

A. ¥ 45 kmph

B. ¥ 50 kmph

C. # 54 kmph

D. # 60 kmph

Question Number : 53 Question Id : 6009299294 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U Afdd 8 8¢ T X ¥ Y I I BT § S 450 kms B g3 TR 81 T8 45 kmph Pt T J 10 T HRT 8 | ITB! AT Bt 3 TIf 71t
Gond

Options :

A. # 45 kmph

B. ¥ 50 kmph

C. # 54 kmph

D. # 60 kmph

Question Number : 54 Question Id : 6009299295 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



A garden can be planted by A, B & C in 40, 50 & 200 days respectively. They start working together and B left the job after working on the 10th
day and C left after working on the 15th day. How many days will A require to plant the remaining garden?

Options :
A ¥ 14
B. # 15
C. #1175
D. #* 20

Question Number : 54 Question Id : 6009299295 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A, B 3R C §RTHH: 40, 50 3R 200 f&T & Sl emar off ebdl g1 9 U 1Y HTH BT = R & 3R B 109 fo S &1 & 91
P BIS AT 8 3R C 153 &7 P B P 91 1 BIS ST & | VY SN T & T A B fbdq fei ) mawaessdr gife

Options :

A ¢ 14

B. % 15

C. % 175

D. % 20

Question Number : 55 Question Id : 6009299296 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A and B can together finish a task in 120 days. Find the number of days B would take to do the task alone if A alone takes 72 days to complete
50% of the task.

Options :
A. % 144
B. # 288
C. % 576
D. ¥ 720

Question Number : 55 Question Id : 6009299296 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

A 3R B e U w1 &1 120 feAl B R IR Thd €1 TS A 3B BRI BT 50% T HA H 72 TG AT ], A B 31hal BT Bl R A
[ELEACEESUIN

Options :

A. # 144

B. # 288

C. % 576

D. ¥ 720

Question Number : 56 Question Id : 6009299297 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How many cones of radius 7 cm and height 14 cm can be carved out of a cylinder of radius 14 cm and height 28 cm?
Options :

A. ¥ 24

B. # 32

C. %25

D. * 36

Question Number : 56 Question Id : 6009299297 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST 14 om 3R SdTS 28 om AT 9T H Y 7 om P AT 3R 14 om P ST dTdl fobd- WP §HY o Tohdl 82
Options :

A. ¥ 24

B. #* 32

C. =25

D. * 36

Question Number : 57 Question Id : 6009299298 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



A park is in the shape of a trapezium. The area of the park is 4500 sq m and the perpendicular height is 20 m. Find the size of the smaller one of
parallel sides of the park if one of the parallel sides is 50% more than the other?

Options :

A. #* 150 m
B. ¥ 180 m
C. % 216 m
D. # 225m

Question Number : 57 Question Id : 6009299298 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS S JHA IgHS & STHR H g | I BT &FHA 4500 sq m § AR G9ad SHdTs 20 m | I B JAFTAR Yorsii & J BICT Yol BT HTHR
T B, TS THMHIR Yosfl § T T, GO A 50% 31® g2

Options :

A. % 150 m

B. ¥ 180 m

C. % 216 m

D. ® 225m

Question Number : 58 Question Id : 6009299299 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The pie-chart shows the distribution of expenses of producing a toy in decimal fractions. If the producer spends Rs 375 on the design of 5 toys,
then how much will he give out on royalty for 50 toys?



Expenses on Producing a Toy

Options :

A. ¥ Rs 3200
B. ¥ Rs 4000
C. ¥ Rs 4800
D. # Rs 6000

Question Number : 58 Question Id : 6009299299 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
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Options :

A. % 3200%0¢
B. # 4000 %UU
C. ¥ 4800 ¥UU
D. # 6000 ®UU

Question Number : 59 Question Id : 6009299300 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The histogram shows the number of units of toys sold in every year. If the selling price of a remote was Rs 160 in 2015 and increased by 25%

each year, then what was the total sales of 2017?



2015 2016 2017 2018 2019 2020

Year

Options :

A. ¥ Rs 3,60,000
B. ¥ Rs 3,75,000
C. # Rs3,90,000
D. ¥ Rs 3,45,600

Question Number : 59 Question Id : 6009299300 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3T &R a¥ o T Ryal A 7 &1 Te &l gxifdr g1 afe 2015 B Reiie &1 fawa G 160 $UT AT 3R UAH aY 25% B g gt o,
dl 2017 1 o faeht fabat &t



2015 2016 2017 2018 2019 2020

Options :

A. ¥ 3,60,000 0T
B. ¥ 3,75,000 ¥UU
C. % 3,90,000 ¥UU
D. ¥ 3,45,600 ¥UQ

Question Number : 60 Question Id : 6009299301 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The frequency polygon shows the expense ratio for a company. If the expenses were equal for 2018 and 2020, then what was income ratio for
2018 and 20207 (Expense ratio = Expenses + Income x 100)
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Options :
A. #* 119
B. # 6:5
C. % 56
D. ¥ 9:11

Question Number : 60 Question Id : 6009299301 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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YT? (Y 3UTd = Y + 31 x 100)
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Options :
A. % 11:9
B. # 6:5
C. % 56
D. ¥ 9:11
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Question Number : 61 Question Id : 6009299302 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

An overseas bank account in the company name contained a balance of one million dollars which were raised through illegal means.
Options :

A. #* An overseas bank account in the company name

B. # contained a balance of one million dollars

C. ¥ which were raised through illegal means.

D. # No error

Question Number : 61 Question Id : 6009299302 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

An overseas bank account in the company name contained a balance of one million dollars which were raised through illegal means.
Options :



A. # An overseas bank account in the company name
B. # contained a balance of one million dollars

C. ¥ which were raised through illegal means.

D. # No error

Question Number : 62 Question Id : 6009299303 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

For most of the century, the Everest had been the ultimate symbol of human endeavour.
Options :

A. ¥ For most of the century, the

B. # Everest had been the ultimate

C. ¥ symbol of human endeavour.

D. ¥ No error

Question Number : 62 Question Id : 6009299303 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

For most of the century, the Everest had been the ultimate symbol of human endeavour.
Options :

A. ¥ For most of the century, the

B. # Everest had been the ultimate

C. # symbol of human endeavour.

D. # No error

Question Number : 63 Question Id : 6009299304 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

Alex climbed (into the car besides Carmen and placed his arm protectively on the back) of the seat behind her neck.
Options :

A. # in to the car besides Carmen and placed his arm protectively at the back

B. ¥ into the car beside Carmen and placed his arm protectively on the back

C. # into the car besides Carmen and placed his arm protectively over the back

D. # No correction required

Question Number : 63 Question Id : 6009299304 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

Alex climbed (into the car besides Carmen and placed his arm protectively on the back) of the seat behind her neck.
Options :

A. # in to the car besides Carmen and placed his arm protectively at the back

B. ¥ into the car beside Carmen and placed his arm protectively on the back

C. # into the car besides Carmen and placed his arm protectively over the back

D. # No correction required

Question Number : 64 Question Id : 6009299305 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

She taught me many things like (how to achieve congruence with your work, your home and your personal needs).
Options :
A. ¥ how to achieve congruence between my work, my home and my personal needs

B. # how to achieve congruence in your work, your home and your personal needs



C. * how to achieve congruence as my work, my home and my personal needs

D. * No correction required

Question Number : 64 Question Id : 6009299305 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

She taught me many things like (how to achieve congruence with your work, your home and your personal needs).
Options :

A. ¥ how to achieve congruence between my work, my home and my personal needs

B. # how to achieve congruence in your work, your home and your personal needs

C. # how to achieve congruence as my work, my home and my personal needs

D. # No correction required

Question Number : 65 Question Id : 6009299306 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice.

The other also dates from the Caesarean period; it mentions many interesting details, and concludes with a fine of the Lord's
Prayer.

Options :

A. * contusion
B. ¥ exposition
C. *# suffrage
D. * hubris

Question Number : 65 Question Id : 6009299306 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice.



The other also dates from the Caesarean period; it mentions many interesting details, and concludes with a fine of the Lord's
Prayer.

Options :

A. ¥ contusion
B. ¥ exposition
C. # suffrage
D. # hubris

Question Number : 66 Question Id : 6009299307 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice.

Photographing the qualities of the moon requires a few tools to make use of the moon's available light source, as well as
minimize camera shake or blur.

Options :

A. * sanguine
B. # cession
C. # denigrate

D. ¥ luminescent

Question Number : 66 Question Id : 6009299307 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice.

Photographing the qualities of the moon requires a few tools to make use of the moon's available light source, as well as
minimize camera shake or blur.

Options :

A. ¥ sanguine
B. # cession
C. # denigrate

D. % luminescent



Question Number : 67 Question Id : 6009299308 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful and grammatically correct sentence.

This led to the circulation of

P. malicious stories to the effect that Great Britain
Q. was not doing her share, and

R. that she was preserving her soldiers

S. at the expense of those

furnished from overseas.
Options :

A. ¥ PQRS

B. # PQSR

C. % PRSQ

D. # PSQR

Question Number : 67 Question Id : 6009299308 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful and grammatically correct sentence.

This led to the circulation of
P. malicious stories to the effect that Great Britain
Q. was not doing her share, and

R. that she was preserving her soldiers



S. at the expense of those

furnished from overseas.
Options :

A. ¥ PQRS

B. ¥ PQSR

C. % PRSQ

D. # PSQR

Question Number : 68 Question Id : 6009299309 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is opposite in meaning (ANTONYM) to the word given below

Paltry

Options :

A. ¥ Substantial
B. # Trivial

C. # Measly

D. # Pathetic

Question Number : 68 Question Id : 6009299309 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is opposite in meaning (ANTONYM) to the word given below

Paltry

Options :

A. ¥ Substantial
B. # Trivial

C. # Measly

D. # Pathetic



Question Number : 69 Question Id : 6009299310 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is opposite in meaning (ANTONYM) to the word given below

Imminent
Options :

A. #* Impending
B. # Menacing
C. # Threatening
D. ¥ Remote

Question Number : 69 Question Id : 6009299310 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is opposite in meaning (ANTONYM) to the word given below

Imminent
Options :

A. * Impending
B. ® Menacing
C. # Threatening
D. ¥ Remote

Question Number : 70 Question Id : 6009299311 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

A. ¥ Detriment

B. # Datriment

C. * Deterimenet



D. # Deteriment

Question Number : 70 Question Id : 6009299311 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

A. ¥ Detriment

B. # Datriment

C. # Deterimenet

D. # Deteriment

Question Number : 71 Question Id : 6009299312 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

A. # Amorpious

B. ¥ Ammorphous

C. # Amarphous

D. ¥ Amorphous

Question Number : 71 Question Id : 6009299312 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

A. # Amorpious

B. ¥ Ammorphous

C. ® Amarphous

D. ¥ Amorphous



Question Number : 72 Question Id : 6009299313 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

Helter Skelter

Options :

A. # Contrary the principles of fairness

B. # Do something exactly right or say something exactly right
C. # Go to bed or go to sleep

D. ¥ Here and there

Question Number : 72 Question Id : 6009299313 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

Helter Skelter

Options :

A. # Contrary the principles of fairness

B. # Do something exactly right or say something exactly right
C. # Go to bed or go to sleep

D. ¥ Here and there

Question Number : 73 Question Id : 6009299314 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

Level playing field

Options :

A. ¥ Material interests

B. # Make all possible efforts



C. # To share a secret that wasn’t suppose to be shared

D. ¥ A fair competition where no side has an advantage

Question Number : 73 Question Id : 6009299314 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

Level playing field

Options :

A. # Material interests

B. ®# Make all possible efforts

C. # To share a secret that wasn’t suppose to be shared

D. ¥ A fair competition where no side has an advantage

Question Number : 74 Question Id : 6009299315 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expressions given below.

Belonging to a particular place rather than coming to it from somewhere else
Options :

A. *# Tenet

B. # Alien

C. # Celestial

D. ¢ Indigenous

Question Number : 74 Question Id : 6009299315 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expressions given below.

Belonging to a particular place rather than coming to it from somewhere else



Options :

A. # Tenet

B. # Alien

C. # Celestial
D. # Indigenous

Question Number : 75 Question Id : 6009299316 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expressions given below.

Back in which the spine is curved in an abnormal way
Options :

A. ¥ Untoward

B. # Debauchery

C. % Vice

D. ¥ Hunchback

Question Number : 75 Question Id : 6009299316 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expressions given below.

Back in which the spine is curved in an abnormal way
Options :

A. # Untoward

B. # Debauchery

C. # Vice

D. ¥ Hunchback

Sub-Section Number : 2
Sub-Section Id : 600929581

Question Shuffling Allowed : Yes



Question Id : 6009299317 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No
Question Numbers : (76 to 80)

A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four
alternatives.

Who would win in a fight, a lion or a tiger? Well, if size has anything to do with the matter, the tiger would win. That’s because tigers are the
largest of all cat species. They grow up to eleven feet long and weigh as much as 670 1bs. This makes tigers the third largest land carnivore. The
only larger land carnivores are polar bears and brown bears respectively. Tigers are not only large, they are also fast. They can sprint as fast as 40
miles per hour for short distances and leap as far as 30 feet horizontally. This makes for an extremely dangerous pounce. You might not think that
such large, fast, and ferocious creatures need help to survive, but they do. The tiger is an endangered species.

Despite all of the tiger’s strengths, the future of the species is uncertain. Tigers face a very high risk of extinction. It is estimated that at the start
of the 20th century, there were over 100,000 tigers living in the wild. By the turn of the century, the number of tigers outside of captivity
dwindled to just over 3,000. Interestingly, the most serious threats that tigers face come from a much smaller species, one with an average weight
of around 140 Ibs. That species is Homo sapiens, better known as humans. Humans threaten tigers in primarily two ways: hunting and destroying
habitat.

Tigers are hunted for many reasons. People have long valued the famous striped skins. Though trading tiger skins is now illegal in most parts of
the world, tiger pelts are worth around $10,000 on the black-market. Though the fur would be incentive enough for most poachers, other parts of
the tiger can also fetch a pretty penny. Some people in China and other Asian cultures believe that various tiger parts have healing properties.
Traditional Chinese medicine calls for the use of tiger bones, amongst other parts, in some prescriptions.

Sub questions

Question Number : 76 Question Id : 6009299318 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the most serious threat to tigers?
Options :

A. ¥ Humans

B. # Environment

C. # Natural predators

D. # Climate

Question Number : 77 Question Id : 6009299319 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Which is the largest land carnivore?
Options :

A. ¥ Polar bear

B. ¥ Brown Bear

C. ® Lion

D. # Tiger

Question Number : 78 Question Id : 6009299320 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What does the line "Well, if size has anything to do with the matter, the tiger would win" infer?
Options :

A. % Lions are larger than tigers.

B. ¥ Tigers are larger than lions.

C. # Tigers are stronger than lions.

D. # Tiger's are the largest cat species.

Question Number : 79 Question Id : 6009299321 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, which of the following statement is incorrect?

Options :

A. ¥ A tiger can reach a top speed of 40 miles per hour and leap as far as 30 feet.
B. # Tigers are mostly hunted for their pelts by most poachers around the world.
C. # Tiger is the largest land carnivore cat.

D. ¥ The most serious threat tigers face today is the declining habitat.

Question Number : 80 Question Id : 6009299322 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, beginning the 21st century what has the tiger population dwindled down to?
Options :

A. ¥ A little over 3000



B. # Around 100,000
C. # 3000
D. # Under 3000

Question Id : 6009299317 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No
Question Numbers : (76 to 80)

A passage is given with 5 questions following it. Read the passage carefully and choose the best answer to each question out of the four
alternatives.

Who would win in a fight, a lion or a tiger? Well, if size has anything to do with the matter, the tiger would win. That’s because tigers are the
largest of all cat species. They grow up to eleven feet long and weigh as much as 670 Ibs. This makes tigers the third largest land carnivore. The
only larger land carnivores are polar bears and brown bears respectively. Tigers are not only large, they are also fast. They can sprint as fast as 40
miles per hour for short distances and leap as far as 30 feet horizontally. This makes for an extremely dangerous pounce. You might not think that
such large, fast, and ferocious creatures need help to survive, but they do. The tiger is an endangered species.

Despite all of the tiger’s strengths, the future of the species is uncertain. Tigers face a very high risk of extinction. It is estimated that at the start
of the 20th century, there were over 100,000 tigers living in the wild. By the turn of the century, the number of tigers outside of captivity
dwindled to just over 3,000. Interestingly, the most serious threats that tigers face come from a much smaller species, one with an average weight
of around 140 lbs. That species is Homo sapiens, better known as humans. Humans threaten tigers in primarily two ways: hunting and destroying
habitat.

Tigers are hunted for many reasons. People have long valued the famous striped skins. Though trading tiger skins is now illegal in most parts of
the world, tiger pelts are worth around $10,000 on the black-market. Though the fur would be incentive enough for most poachers, other parts of
the tiger can also fetch a pretty penny. Some people in China and other Asian cultures believe that various tiger parts have healing properties.
Traditional Chinese medicine calls for the use of tiger bones, amongst other parts, in some prescriptions.

Sub questions

Question Number : 76 Question Id : 6009299318 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the most serious threat to tigers?
Options :

A. ¥ Humans

B. # Environment

C. # Natural predators



D. # Climate

Question Number : 77 Question Id : 6009299319 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which is the largest land carnivore?
Options :

A. ¥ Polar bear

B. # Brown Bear

C. ® Lion

D. ¥ Tiger

Question Number : 78 Question Id : 6009299320 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What does the line "Well, if size has anything to do with the matter, the tiger would win" infer?
Options :

A. * Lions are larger than tigers.

B. ¥ Tigers are larger than lions.

C. ¥ Tigers are stronger than lions.

D. ¥ Tiger's are the largest cat species.

Question Number : 79 Question Id : 6009299321 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, which of the following statement is incorrect?

Options :

A. # A tiger can reach a top speed of 40 miles per hour and leap as far as 30 feet.
B. # Tigers are mostly hunted for their pelts by most poachers around the world.
C. # Tiger is the largest land carnivore cat.

D. ¥ The most serious threat tigers face today is the declining habitat.

Question Number : 80 Question Id : 6009299322 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
According to the passage, beginning the 21st century what has the tiger population dwindled down to?

Options :

A. ¥ A little over 3000
B. ¥ Around 100,000
C. * 3000

D. * Under 3000
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Question Number : 81 Question Id : 6009299323 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

7 el & @ 39 dehey &1 9= &3 off fou U IfY-fawde wisg & Ie! IfY &1 fdsheu 3|
W’rﬁJr'sf'QT

Options :

A. % TSR
B. ¢ IR
C. % J9¥
D. ® oI

Question Number : 81 Question Id : 6009299323 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 faweal & § 39 fawed &1 79 3 off AT 77 TfY-fawde Weg & e WfY &1 faweu g
WFFH%‘E[

Options :

INEREIER
B. ¢ ISR
C. % oY
D. # JoHIRI

Question Number : 82 Question Id : 6009299324 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e el & @ I fIhed &1 =9 & Sl f3U 71T fY Teg &1 et 9ft-fawde 3




iy

Options :

A. ® I+

B. ¥ 9 +3BY!

C. % TR +BN
D. ¥ T+HN

Question Number : 82 Question Id : 6009299324 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 faeal & Q I fashed &1 a9 o3 off feu 77U TfY 2eg &1 1 AfY-fe g
peiveiivg

Options :

A. % o Rt

B. % 9« +3BYt

C. % quR +3BY
D. ¢ q+H N

Question Number : 83 Question Id : 6009299325 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1 famed! o 9§ 39 fdded &1 997 &< Sl [AT T4 UHd RMeg &1 ¥g! [dahed g
Options :

A. ¥ §agH

B. % A

C. % BHUUR

D. # 3YYh]

Question Number : 83 Question Id : 6009299325 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

15 fawedl § I 39 fdded &1 70 o S fAU 71U U Xeg &1 9! [daed g
Options :

A. ¢ SdgH

B. ¥ fypw

C. ¥ HHUR

D. ® 3YUahl

Question Number : 84 Question Id : 6009299326 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

7 ol § @ 39 fdshey &1 9a &3 off 3T TTU SuTi eq &1 U8l Ay 3|
Options :

A. ¢ [Afgd

B. ® Pt

C. ¥ RSP

D. # HdI

Question Number : 84 Question Id : 6009299326 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

79 ol & @ 39 fashey &1 98 B3 off 3T U IuTt Reg; &1 Ug! faswey 3|
Options :

A. ¢ faf¥a

B. % DAl

C. ¥ WP

D. # HdI

Question Number : 85 Question Id : 6009299327 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



9 fadedl § T 39 [Adhed &1 999 &< S HIGard U1 BT el f[ddhed g
Options :

A. % el

B. ¢ &0

C. ® i

D. ¥ STc!

Question Number : 85 Question Id : 6009299327 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 ol & @ 39 fAshey &1 98 B3 S HIgdTae 31 61 a1 faded g
Options :

A. % Dl

B. ¢ 3Tl

C. % fIRA

D. ¥ STcil

Question Number : 86 Question Id : 6009299328 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3 Teq, BichR T B gfd HIT |
A V- aHia) &1 T T

Options :
A. * g
B. ®# qd
C. % 398
D. ¥ 3

Question Number : 86 Question Id : 6009299328 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

3 Teq, BichR T B gfd HIT |
it E KRV C e S Rt

Options :
A. * g
B. ®# qd
C. % 398
D. Y3

Question Number : 87 Question Id : 6009299329 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 ol & Q39 fdcheu &1 9u &3 off feT 77U Xeq, &1 98! fAH Tt 7 |
fauey

Options :

A, * 30y
B. # gfdgd
C.¥ Uy

D. % fdvg

Question Number : 87 Question Id : 6009299329 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g fasredl § @ I I ed &1 997 B3 Sl f3U 7Y Tea 1 Tt o e 7 |
fques

Options :
A. #® 3y
B. ¥ Ufddpd

C.¥ Uy




D. # fdvg

Question Number : 88 Question Id : 6009299330 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1 famedl o 9§ 39 fawed &1 997 &< Sl 3T 7Y Xea-1 o1 5 314 g |
Y -3

Options :

A. % 3IIQIRER

B. * A IR -gu
C. = gi—l%l—g{-l{l,iwﬂ\ldl
D. ¢ qIR[-gURT, UIIR

Question Number : 88 Question Id : 6009299330 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1 fasedl o & 39 faded &1 9= &< Sl 3T 7Y Xea-g7 o1 et 31 g |
ST -3

Options :

A. ¥ I IRER

B. % A G -guy

C. % GERI-GERgebaldT
D. ¢ qURI-gIT, URTR

Question Number : 89 Question Id : 6009299331 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
g fawedl o T iy 9199 &1 ggan-y |

Options :

A. % T e o1 IR Ullar o3t e |



B. ¥ T U Afad DI ¢WT off 9gd aiaT AT |
C. % §H Hed gl SI-ab) 39 715 |
D. % IR B W ¥e HH Y |

Question Number : 89 Question Id : 6009299331 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g gl & 9 ey a1y &Y gganfAg |
Options :

A. % T e o1 R Uie Bt el |
B. ¥ U4 T Afad DI ¢4 ol 9gd aT o |
C. ¥ U Ted gl ShRI-dme] Ha 715 |

D. ¥ R ®e1 R e M Y |

Question Number : 90 Question Id : 6009299332 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1 fased o 9 39 fawed ST g SR S I HTYS TU | |
Options :

A. ¢ T ST &I FHITT - T |

B. # HIUEH W™ &I q¢ A |

C. ® gfafe o= &8 & & |

D. % Ug B SAG @ |

Question Number : 90 Question Id : 6009299332 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g et & 9 39 fadhed &1 98- &3 ol I BT Yg U ¢ |
Options :

A. ¢ T SIA% T THIATT - 1T |

B. % YOG A9 & 9d ¥ardi g |



C. % YAl 301 HH & B |
D. % Ug B S B |

Question Number : 91 Question Id : 6009299333 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o fadedt o § 39 faden &1 909 &% Sl Uod Uhdd- HT ¥ g |
Options :

A. ¥ G

B. ¥ dX

C. #¥ W

D. # %

Question Number : 91 Question Id : 6009299333 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

o fasedl o @ 34 faded &1 909 X o) Ud Uhdad HI w0 g |
Options :

A. ¥ M

B. # §¥

C. % W

D. # 1]

Question Number : 92 Question Id : 6009299334 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

79 fasmedl # O 39 fadwed o1 T & ol Idd JfiT 1 = g |
Options :

A. % Bl

B. ¢ JH

C. ® TORIdt




D. % TR

Question Number : 92 Question Id : 6009299334 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fog faeett H § 39 3 e &1 T 3 S Jed T HI U g |
Options :

A. % Bl

B. ¢ JHIS

C. ® TRt

D. % Rl

Question Number : 93 Question Id : 6009299335 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1 famedl o 9 39 fadmed &1 99- &1 Sl TR fog gad a1eg &1 98 fadwea § |
Options :

A. * g9 - €GP el "3 Yo S 3 & 81 2"

B. % ga% 3 SYIR $Hel -3d Jg $© 3719 & &l 2"

C. % Y9 - §UPR DB -"3F I $B SAH A 81 2

D. ¢ ga% - §UBR Hel -"3d 3 $D 39 S 81 2"

Question Number : 93 Question Id : 6009299335 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

79 faweal & § 39 fawed &1 99 &3 o TR g gad areg &1 9e! fdwea 7 |
Options :

A. % gaP A gUPR gl "3d g O AE e &l 2"

B. ¥ d® - gUDPR HEl -4 o $© A ad &l 2"

C. % gIh A SUPR Bl -"3F T2 $S 37 ¢ 81 2

D. ¥ Jad 3 §YPR Hel -"3d q $S A & 81 2"




Question Number : 94 Question Id : 6009299336 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

79 fasmedl # 9 39 fadwed o1 Tg &1 o 3T T Aienifad &1 Tat orf aren faweu | |
I GO T A, TR 31T ST

Options :

A. % JReK! fHd & 7 ge-1

B. % 3UAT 3UAT HIIg

C. ¥ 3% gigar # off T gidl g, IR @I | el gt
D. * g1 ®is Af¥a Aa T8l 8

Question Number : 94 Question Id : 6009299336 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

79 faseal ¥ q 39 fasrey &1 999 o3 o fAU 7T diepifad o1 Tat 31 aran fawea 8 |
T I TH! 0, TR ST 3T

Options :

A. ¥ SeRGIl el & 7ol el

B. # Ul YAl HIY

C. ¢ 3 gGHM! H 4} Tl et & IR 7@ H 781 gl
D. % &I ®Is YT I 61 8

Question Number : 95 Question Id : 6009299337 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 fasedl o @ 39 faded &1 997 < S fAT T JeTa &1 Tet 316 aral fadwea § |
RR -4 Dt droll T

Options :




A. ¥ TR &
B. ¥ f&dl &1 7 3T

C. ¢ U7} &1 Yt gRarg 9 &A1
D. % oIl ST

Question Number : 95 Question Id : 6009299337 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

5 fashed! o ¥ 39 [adey &1 997 3 Sl fAT 71U GgTa &1 ¥et 375 ardl [ddbed § |
R - &t 9ol T

Options :

A. # TR DAl

B. ¥ bl 1H 7 31

C. ¢ TTuT &1 i URdTE 9 B

DA ANICIRGIGH

Sub-Section Number : 2
Sub-Section Id : 600929583
Question Shuffling Allowed : Yes

Question Id : 6009299338 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No
Question Numbers : (96 to 100)

e fou U TR & ST W Uy T U § (39 TR 4 e U 3R IR fadm e # ¥ Ude Uy &1 arad SR g |

SR & UYTd 3T YA IR H1d $I faalRd B4 arelt AR &1 R Farai g | 98- [, 8, T Ud Uell & =l & 7§l § | AT &1 Jae 9
ey R = aret A gt ¥1 fobg g 8 o 50 St st ) g fere e A1 SR 39 TR ¥ g oo =ity XeH o1 v fosa
8 AR & &0 &I ¢al BT U1 A & | THD] M X TR B! IGa- $I &HdT 9T ¢ | AR B Al-gHT, A TR AR Al-aed & wu d
Tl ST & | Ui R & A &1 RUfS ot 2t | afees d1at & A1) &1 Troies I AT | 0T, Shargar Sifes1ial ¥ $B1dg o gaal ol
T, <1 T, SIS, AT 1S & SIS ®I 37el H R fora1 oi1a & | AT & aa SIT8R:- STgt %l S &1 3Mex I gidl &
3AD! TITH T 3R UMM BT el Blelt § I R, JHTS ,GRGR TR T 707 T97 I8 & | STg! T el aidT 3R 3% Ufd fRIpR &1
qeR fordT ST § 981 &d HUT -1gi 84! § 3R dgi ud foht U & 9hd 81 gid|

Sub questions




Question Number : 96 Question Id : 6009299339 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3Twse O fohadh! I A g1 & IR § IarRT T 2
Options :

A. % URAR &I

B. % HMd &I

C. ¥ ST YT Bl

D. % JHS DI

Question Number : 97 Question Id : 6009299340 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Tfa & o forar man g 2

Options :

A, ¢ TgT Tl S BT 3MTeR TR gl 8,39 URaR TR adT 10 JHe X6 ¢ |
B. % gl Tl SIfd T 3M1eR TR i1 § .39 URER TR gdT 7107 309+ 36 § |
C. % gt T S1fd BT 3R 81d1 8,39 URIR UR g 01 YA 38 § |

D. # STgT Xl STfd &7 3R T gidl 8,39 YRR TR ¢adl 0 HUd Igd g |

Question Number : 98 Question Id : 6009299341 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
R 1 b1 - fopet 0l & g S 8 2
Options :

A. % T ST

B. ¥ TUTESl gl

C. % i, 3rI=gn

D. ¢ TG HT-REach, AT -det

Question Number : 99 Question Id : 6009299342 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
R " Qg T e IelH Toq I |
Options :

A. % 3Hla}

B. % TSI

C. ¥ AHUHMH

D. ® gwId

Question Number : 100 Question Id : 6009299343 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3TeS & fory Wt <hifed g |
Options :

A. % 3 QU BT ART

B. ¢ ARl G

C. % AR} fRyan

D. % TR} &1 ®I FafaR g1

Question Id : 6009299338 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No
Question Numbers : (96 to 100)

2 fow e e & o1 & Uy fRU U § (29 TR e Yde Ue IR TR faedl § | Ui Uy 1 gafad SR g |

SR o TYTd 39 YA IR T11d $I [GaRd B arelt AR} &1 R Fad g | AR8)- 77, 98, T Ud Uell & =l & gd! ¢ | A BT Jae 9
Hey RT3 arefl 98It 81 fobg g & fob 59 STl Uit b1 A ferd G =11 Sahr G- URY 3 81 310+ I=iYd T8 &1 Jad foba
B & U DI <at BT Ui A § | THHT T IR IR DI I&a- DI & @l 8 | 7RI D1 Al-gt, Af TRt 3R Af-aght & ®u o
Tl STl § | ITeiH HRd & ARY &t (T ot | afee ora & AR &1 Temiories AT 7| 0T, s SIRal = Bide & Jadl i
T, < Y, SIS, AT 1S & e &l 3ot H WeR foran Srar 8 | AT & aa7 STuR:- et Wt SIfd &1 3R I gial &
P! HTIRGH T SR 3Uen3fi &1 Yfef gl 8 3 R, JHTST ,URAR WR SadT 107 U9 I8d & | STgT T Tl 81T 3R 39 Ufd foRewR &1
TaeR a1 SITaT § 98 < HUT 781 T8l | 3R a8i YU fu U &1 I gl gid |

Sub questions




Question Number : 96 Question Id : 6009299339 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3fTwse o fohadh! I A 81 & IR J IarT T g 2
Options :

A. % URAR &I

B. % Hd DI

C. ¥ ST YT bl

D. ¥ THISI Bl

Question Number : 97 Question Id : 6009299340 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

q3fa & o e mar g 2

Options :

A. ¢ T I ST &7 3MTeR T 8idT 8,39 URAR TR ¢adT 0T U ¥8d & |

B. % STg1 Tl Sfd BT 3T THAH Bl § , 39 URIR TR ST 107 3Ud T8 § |
C. % STgT Tt SIIfdl T 3FTER BT 8,39 URAR W adT 7107 T 38 & |

D. % Tgf Tl S &7 31T T BT 8,39 URIR TR <adl 70 HiUd I§d & |

Question Number : 98 Question Id : 6009299341 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
IR} ! foeT - fop =01 A g ST § 2
Options :

C. % idr 3
D. ¢ T-g -, AT -q&dt

Question Number : 99 Question Id : 6009299342 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

R " Qg T e IelH Toq I |
Options :

A. % 3}

B. ® Ufdgl

C. ¥ 3UHH

D. #® gId

Question Number : 100 Question Id : 6009299343 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3TeS & fory Wt <hifed g |
Options :

A. % 3 QU BT ART

B. ¢ ARl G

C. % AR} fRyan

D. % R} &1 M FAMUR gIdl g
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Question Number : 101 Question Id : 6009299344 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The psychologists usually study on which of the following?
Options :

A. # Monkeys

B. # Guinea Pigs

C. * Dogs

D. ¥ People

Question Number : 101 Question Id : 6009299344 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

RIS AR WR Hafeied 7 @ feg R sremus od 82
Options :

A #® TR

B. % I gsR
C. % od

D. ¥ @R



Question Number : 102 Question Id : 6009299345 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The contemporary definition of psychology is:

Options :

A. ¥ The science of behaviour and mental processes

B. # The science of mind and it illnesses

C. # The study of how a mind works and its effect on the body

D. # The study of motivation , emotion, and abnormality

Question Number : 102 Question Id : 6009299345 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IR BT FHBTE TR 6:

Options :

A. ¥ FAER R AHRIS Ufcharsii &1 fagm

B. ¥ T 3R 3 IMT B fagH

C. % T HY BT BT § 3R TR IR 9D YT BT ST
D. % SHYTRO, YT SR SRATHTIAT BT ST

Question Number : 103 Question Id : 6009299346 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
regularly play sports which don’t consist of teamwork and competitive situations. Instead, they play individual sports or

activities.

Options :

A. # Type A Personality
B. # Type B Personality
C. ¥ Introverts

D. # Extroverts



Question Number : 103 Question Id : 6009299346 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
afid Tu 3 00 O Wad ¢ foma gffferd & 3R ufaegsf fRufaat wnfara 781 81t 81 39 99, 3 safaara @ ar
fafafeaT @ad g
Options :
A. % UPHR A Hfckid

B. # U®R B Aladd
C. ¢ 3faqwt
D. % gigqat

Question Number : 104 Question Id : 6009299347 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Alderfer’s theory categorizes needs into three categories. The most important is

Options :

A. ¥ Growth needs

B. # Relatedness need
C. ®# Knowledge needs

D. # Existence need

Question Number : 104 Question Id : 6009299347 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TEUR &1 Rigid sexdl & o A0 § afferd vl 81 Ta9 Ag@yui § |
Options :

A. ¢ 3G STa=gahdl

B. # T Tagdhd]

C. % I DI AT H

D. ¥ 3K DI AT DH




Question Number : 105 Question Id : 6009299348 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Psycho- sexual developmental takes place during

Options :

A. ¥ Young age
B. # Adulthood
C. # Adolescence

D. # Infancy

Question Number : 105 Question Id : 6009299348 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TG fawr EZCINENSGI
Options :

A. ¥ gdl A1

B. ¥ qOIhdl

C. * foheIRTaRAT

D. # ddUdq

Question Number : 106 Question Id : 6009299349 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Ida, Pingala, Sushumna are related to

Options :

A. # Chakras
B. ¥ Nadi

C. ® Prana

D. # Karma

Question Number : 106 Question Id : 6009299349 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

g1, fRivra, g RESEIRGE]
Options :

A. % Tepl

B. ¥ TSl

C. & YU

D. % $HAf

Question Number : 107 Question Id : 6009299350 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Trataka is related to gazing, while nauli is related to
Options :

A. * Nostril thread pull

B. # Vastra Dhauti

C. ¥ Abdominal Churning

D. % Rechaka and Puraka

Question Number : 107 Question Id : 6009299350 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Acdh Al W Yafdd g, Safds Al BESCIREE]
Options :

A. % gFAfd

B. ® a%d eifd

C. ¥ UZ &1 U3

D. % & R P

Question Number : 108 Question Id : 6009299351 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Which of the following Mudras helps to relive pain after heart attack and any chronic complaints?
Options :

A. # Varuna Mudra

B. # Prithvi Mudra

C. # Shunya Mudra

D. ¥ Apan Vayu Mudra

Question Number : 108 Question Id : 6009299351 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafoiad § I o9 I g1 geardrd (81 3ied) 3R fhdl R R & 918 38 &1 g B | Aeg Rl 82
Options :

A. ¥ U Hal

B. ¥ gudt gar

C. * LI HAl

D. " 3{UTH a1 Hal

Question Number : 109 Question Id : 6009299352 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which is the main asana to be avoided by people suffering from slipped disc or sciatica?
Options :

A. % Makarasana

B. # Advasana

C. ¥ Paschimothasana

D. # Vajrasana

Question Number : 109 Question Id : 6009299352 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ey fe< a1 grafest ¥ difsd i &) &1F 11 JReT 39 el o1 dlfeu?

Options :




A. ¥ AHIEA
B. ¥ 3TSaTgAl
C. ¢ UigHRENA
D. % I

Question Number : 110 Question Id : 6009299353 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following Asanas help to reduce Menstruation cramps?
Options :

A. # Sarvangasana

B. # Shirshasana

C. % Karnapidasana

D. # Balasana

Question Number : 110 Question Id : 6009299353 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FAfIRad & I D14 91 3 T1RI® 4 &1 U6 DI HH H3- § HGG Hdl 57
Options :

A. % FaiTe

B. ¥ gfiufe

C. ¥ BT

D. ¢ d[cl{4

Question Number : 111 Question Id : 6009299354 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which Pranayama is called Frontal brain cleansing breath?
Options :

A. # Ujjain Pranayama



B. ¥ Kapalabathi Pranayama
C. ® Bhramari Pranayama

D. ¥ Bhastrika Pranayama

Question Number : 111 Question Id : 6009299354 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fohg UTUTTATH ) Telle AT Qe YT Bl oiTdl 82
Options :

A. % I UTOMATH

B. ¥ SHUTAHTI UTOMmaTH

C. % YR} oy

D. ¥ YT UTumam

Question Number : 112 Question Id : 6009299355 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Natural motivation is also known as

Options :

A. ¥ Intrinsic motivation
B. # Self assertion

C. # Self actualization

D. # Extrinsic motivation

Question Number : 112 Question Id : 6009299355 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ui SITURT BT =g H i TS R |
Options :

A. ¢ 3fTaRe SR

B. ¥ g 3UHYT




Question Number : 113 Question Id : 6009299356 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Individual differences are due to

Options :

A. # Environment Impact

B. ¥ Heredity and Environment Impact
C. ¥ Heredity Impact

D. ¥ Community Impact

Question Number : 113 Question Id : 6009299356 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T Tang % BRUE g

Options :

A. % TgIauI gH1d

B. ¥ AR Ud TafaRur gHTd
C. % 3dTRIeb JyuTd

D. % GRS YHId

Question Number : 114 Question Id : 6009299357 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Instinct theory of motivation was propounded by

Options :

A. % Benedic
B. # Clark Hall
C. ® Kurt Levin



D. ¥ McDougall

Question Number : 114 Question Id : 6009299357 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SHFHURUT & Gavgh Rigid SRT T fobam Ty T |
Options :

A. ® 9f&H

B. ¥ F% gId

C. % &c dfd

D. ¥ HagT

Question Number : 115 Question Id : 6009299358 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Goal setting research suggests that people will exert higher levels of effort when goals are

Options :

A. # Task and Moderate

B. # Difficult

C. # Easy and General

D. ¥ Challenging and Specific

Question Number : 115 Question Id : 6009299358 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A&g FAYRoT SFIEY™ § UdT IadT ¢ fob ofd e gId €, I AT 3 Wk & YA il |
Options :

A. * BT 3R qeH
B. ¥ ®fod
C. ® 3 3R

D. ¢ AUl 3R fafdry




Question Number : 116 Question Id : 6009299359 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The ability to makes successive movements in different directions efficiently and rapidly refers to

Options :

A. # Co-Ordination
B. # Balance

C. # Power

D. ¥ Agility

Question Number : 116 Question Id : 6009299359 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faftrs femait & ity o ) pRadgde 3R dofl § HA Bt ear & Teffd Bt B
Options :

A. ® JH4Y

B. ¥ I

C. * gfer

D. ¢ JUddl

Question Number : 117 Question Id : 6009299360 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Range of movement present at body joints refers to
Options :

A. ¥ Muscular endurance

B. # Muscular strength

C. % Agility

D. ¥ Flexibility

Question Number : 117 Question Id : 6009299360 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

YRR & Siist & Aigg 71 ) o Yefifd Hdt
Options :

A. % OOy aoredt

B. ® YRIRP fad

C. % dUddr

D. ¢ Tdag_

Question Number : 118 Question Id : 6009299361 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Assessments of flexibility is done with the help of
Options :

A. ¥ Goniometry

B. ¥ Tens meter

C. ¥ Dynamometer

D. #¥ Cyber

Question Number : 118 Question Id : 6009299361 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TAANATA BT ST &1 Aee ¥ fodT STar 3 |
Options :

A. ¥ TFGHS

B. % T Ui}

C. ¥ SlgIHMHIR

D. # {IgsR

Question Number : 119 Question Id : 6009299362 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

What is the full form of AAHPERD?

Options :

A. % American and Australian Health, Physical Education, Recreation and Dance
B. ¥ American Alliance for Health, Physical Education, Recreation and Dance

C. # American Association for Health, Physical Education, Recreation and Dance

D. # Austria Australian Health, Physical Education, Recreation and Dance

Question Number : 119 Question Id : 6009299362 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AAHPERD &1 JUf &0 &7 87

Options :

A. % ARG U8 e g, i d Toeh e, RfdueH e s
B. ¢ 3AR® eI~ BR s, {hivred T, Rfbu=H e 89
C. ¥ MRS THIRITIHE BR g, fhividhd TbhrH, RfhT=H ts si9
D. ¥ 3Ifegar 3 fer s, fthfSrard Toor, RfhueH e €\

Question Number : 120 Question Id : 6009299363 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The test used for body composition which is to quantify an individual’s obesity level is

Options :

A. # Height/Weight tables
B. # Skin fold measurement
C. ¥ Body mass index

D. % Hydrostatic weighing.

Question Number : 120 Question Id : 6009299363 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YRR 1 & forg I fpar S ara uRieror St forht sufad & Hierd & &R &) AT 8, 98 gl




Options :

A. # GeITS/asi difeieh
B. ¥ @Ediel AIY

C. ¢ TR GoIHM Ybich

D. ¥ Saifde YR
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Question Number : 121 Question Id : 6009299364 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Name the best way out of the following to determine the cardio-vascular efficiency.
Options :

A. #* Bench Test

B. # Margarida test

C. ¥ Harvard test

D. # Coopers test

Question Number : 121 Question Id : 6009299364 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gadiieq! et RuTia s & fore fFafafed § @ 9e9 s diids &l 91 ad=u|
Options :

A. % o= ORI

B. ¥ ONIRSI giam

C. ¥ gTds Ui

D. % PR WIE0T

Question Number : 122 Question Id : 6009299365 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the time duration of field goal speed test in Johnson test?
Options :

A. % 2 Minutes

B. ¥ 30 seconds

C. # 1 Minutes

D. # 2 Minutes 30 seconds

Question Number : 122 Question Id : 6009299365 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

ST RI&(0T H les T Tl UR1&(01 & I fafy ol g2
Options :

A. % 2 fie

B. ¥ 30 Ydg

C. % | fiFe

D. ¥ 2 fiF e 30 Abhs

Question Number : 123 Question Id : 6009299366 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Tests like SAT are used to measure
Options :

A. * Intelligence
B. # Achievement
C. ¥ Aptitude

D. * Performance

Question Number : 123 Question Id : 6009299366 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SAT ¥ TRI&I &1 JudIT A9 3 forg fasan S g
Options :

A * §fg

B. % JUcisd

C. ¢ &

D. % R

Question Number : 124 Question Id : 6009299367 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



The direct measurement of fat deposit subcutaneously is done by
Options :

A. *# Harvard instrument
B. # Skin fold Calliper
C. # Dynamometer

D. # Hydrostatic weighing.

Question Number : 124 Question Id : 6009299367 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3{eEdcp I STHT T HieT /Y AR RIRCIG ]
Options :

A. ¥ gdS IUHRI

B. ¢ TATAfd HIAR

C. ¥ TreHaaHdt

D. % JaRfdd YR

Question Number : 125 Question Id : 6009299368 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

One part out of many where skin fold test measurement of the fat in human body is taken at the mid-chest, just forward of the armpit. This test is
called skin fold test.

Options :

A. # Abdomen
B. # Midaxilla
C. # Sub scapular
D. ¥ Pectoral

Question Number : 125 Question Id : 6009299368 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

®s A I Th U 98T H-d TRR H 91 BT Jarafer U101 H1Y BTelt & Hed H, S71d & Siep 3T o Siran g 1 59 uRteqor &) FAfafa



TR1&/01 HgT STl g |
Options :

A. ¥ IR

B. % fSfRyem

C. % JRHYR
D. ¢¥ UdeRd

Question Number : 126 Question Id : 6009299369 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The measurement of the size and proportion of the human body is called

Options :

A. * Plyometry

B. # Corrective

C. ¥ Anthropometry
D. # Observative

Question Number : 126 Question Id : 6009299369 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AT YRR F 3MHR 3R U B1 AT Y HET ST g |
Options :

A. ¥ WAWE

B. % JYRIHD (hfdca)

C. ¢ HafHfd

D. % 3@AAIHT (3HieoTd fea)

Question Number : 127 Question Id : 6009299370 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is not possessed by fast twitch muscles in comparison to slow twitch muscles?



Options :

A. ¥ Less resistant to fatigue
B. # High AT pase activity

C. # Less Myosin cross bridges

D. # Fat contraction speed

Question Number : 127 Question Id : 6009299370 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

et frep It Uikl 61 goreT & ot T It Ut o orm =1t il 82
Options :

A. ¥ YBTH & 1T 8 FfcRie

B. % I AT U TIfafafy

C. ® HH HAIIRE iy foel

D. % a1 gpa- Tid

Question Number : 128 Question Id : 6009299371 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Increase in the blood lactate is due to

Options :

A. ¥ Anaerobic

B. # Anaerobic threshold
C. # Aerobic Potential

D. # oxygen absence

Question Number : 128 Question Id : 6009299371 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Yad daee # gfa & HRU I gl

Options :



A. ¢ JATA™

B. % 3y Y31

C. % FIGYT &

D. # 3fRiIoH Bt rURRUf

Question Number : 129 Question Id : 6009299372 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which system is not a part of the aerobic system for producing ATP?
Options :

A. # Aerobic glycolysis

B. # Krebs cycle

C. # Electron transport cycle

D. ¥ Phosphate system

Question Number : 129 Question Id : 6009299372 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ATP & I & foTE B I YUITel aRI4™I HomTel 1 fewt =gl 82
Options :

A. % TIIYI TASH] UEcH

B. ¥ thed dh

C. ¥ Saide i URag dsh

D. ¢ TIThe Yurelt

Question Number : 130 Question Id : 6009299373 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is the best measure of variability ?
Options :

A. ¥ Range



B. # Standard Deviation
C. * Mean Deviation
D. * Mode

Question Number : 130 Question Id : 6009299373 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaRed § I @ aRad—=iTddr &1 96 3wl UM 82
Options :

A %3S

B. ¢ A fd=er

C. % A1y faer

D. ¥ HIg

Question Number : 131 Question Id : 6009299374 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The type of research method involving in depth study and execution of available information in an attempt to explain complex phenomena is
known as

Options :

A. ¥ Philosophical Research
B. # Developmental Research
C. # Action Research

D. ¥ Analytical Research

Question Number : 131 Question Id : 6009299374 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Sifed uRgersi &1 THem & TN H IUds SHHR] & T8 g 3R e § nfia My Ugld & TR &I FAHY
ST ST 8|
Options :

A. % greffAe Ty




B. ¥ [AHId® MY

C. ¥ HRAR WMWY
D. ¢ AU S MY

Question Number : 132 Question Id : 6009299375 Question Type
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

: MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Which of the following is one of the types of quantitative method of data collection?

Options :

A. ¥ Observation
B. # Correlation
C. # Interviews'

D. ¥ Biographical Analysis

Question Number : 132 Question Id : 6009299375 Question Type
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

: MCQ Option Shuffling : Yes Is Question Mandatory : No Option

fofeiRad 7 9 o o1 T8 & Ad® (3 & YR H 3 T 82

Options :

A. ¢ ST

B. ¥ g - Gy

C. ® YlElpR'

D. ¥ Siig-t fageiyor

Question Number : 133 Question Id : 6009299376 Question Type
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the independent variable in experimental research?
Options :

A. # A variable which no body controls or changes

B. ¥ The variable which is manipulated in an experiment

: MCQ Option Shuffling : Yes Is Question Mandatory : No Option



C. # The variable which is measured, to see results of an experiment
D. # A variable which is held steady

Question Number : 133 Question Id : 6009299376 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TS ST H W OR 1 8?

Options :

A. % T R R iR Faifd ar oiafda T a=ar g

B. ¥ TR S T TN H g3-Uh a1 o1l 3

C. % TP R foraap! fosdt vRiNT o uiRonmy ¢ o& forg wrar siran 8
D. % T =R o FRR 3T o1 3

Question Number : 134 Question Id : 6009299377 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
‘Sit and reach test” measures

Options :

A. # Abdominal strength

B. # Shoulder flexibility

C. ¥ Hamstring and back flexibility
D. # Hyperextension of the back

Question Number : 134 Question Id : 6009299377 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
detsfmew oraudg
Options :

A. % U &I drebd

B. % &Y DI AT

C. ¢ gART 3R tie &1 aiiam



D. ¥ U3 &1 RN RIH

Question Number : 135 Question Id : 6009299378 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Cardiac output refers to

Options :

A. ¥ The volume of blood pumped by each ventricle per minute

B. # The proportion of blood pumped out of each ventricle during systole
C. # The product of the ejection fraction and heart rate

D. # The electrical output of the cardiac conduction system during a single cardiac cycle

Question Number : 135 Question Id : 6009299378 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HISTD ATICYCS o) Gehid HRar gl
Options :

A. ¢ fd fiFe yde g gR1 Uy fohw 178 Xad ot 9

B. # RRCd & gRM YA Had J Ud fby 7 Iad &7 SruTd
C. % IO 3 3R &g T H1 UG

D. ¥ Udhd gad 9% & GRM ga-aIa- YulTel! &1 faggd Idre

Question Number : 136 Question Id : 6009299379 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Constriction of blood vessels to reduce blood flow is achieved by
Options :

A. # Increased parasympathetic activity

B. ¥ Reduced parasympathetic activity

C. # Increased sympathetic activity

D. # Reduced sympathetic activity



Question Number : 136 Question Id : 6009299379 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Y UdTg Bl &HH HRA b ol I5d difgdbrefi o1 pa GRT YT ot ST g |
Options :

A. * g1 g3 WIRFAfesw nfafafy

B. ¥ RIRqmdfes nfafafy & ot

C. * Feryfa (Rrudfew) nfafafer & gfs

D. # HY ergufd (Rrudfew) nfafafd

Question Number : 137 Question Id : 6009299380 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Treatment in which water is used is called

Options :

A. # Thermo therapy
B. ¥ Hydro therapy
C. # Cryo therapy
D. # Friction

Question Number : 137 Question Id : 6009299380 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SUAR foraH urt &1 IUART bt Sirell & 39 EISIGIG]
Options :

A. % YA R

B. ¢ 9 fofore

C. % STl Al

D. % gy



Question Number : 138 Question Id : 6009299381 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Smooth muscle is under control of
Options :

A. % PPNS

B. # CNS

C. # PNS

D. ¥ ANS

Question Number : 138 Question Id : 6009299381 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3Rgifere Ut & T H gt 8|
Options :

A. % PPNS

B. # CNS

C. # PNS

D. ¥ ANS

Question Number : 139 Question Id : 6009299382 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Myosin heads are called

Options :

A. ¥ Cross Bridges
B. # Z-Lines

C. # I-Bands

D. # A-Bands

Question Number : 139 Question Id : 6009299382 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
AARA 859 &1 CEREIGI
Options :

A. ¥ 1Y fororg

B. % 734l

C. ¥ 148

D. ¥ AdE

Question Number : 140 Question Id : 6009299383 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which day is celebrated as 'International Day of Yoga'?
Options :

A. % June 20

B. ¥ June 21

C. # June 22

D. # June 23

Question Number : 140 Question Id : 6009299383 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

forg o b1 SieRTET AT feaer & U o AR Sl 62
Options :

A. # Y120

B. ¥ \[d-21

C. % \[d1-22

D. % \-23
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Question Number : 141 Question Id : 6009299384 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which gland/s is benefitted by rotational movements of the neck in yoga?

Options :

A. * Pancreas

B. ¥ Thyroid

C. * Hypothalamus
D. * Sweat Glands
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Question Number : 141 Question Id : 6009299384 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IRT H TG B guE T © DIF-9 U/t aruifad gt g2
Options :

A. = JWURA

B. ¥ 3{dg UfY

C. ® JYFdAD

D. % Wy

Question Number : 142 Question Id : 6009299385 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The name marjariasana is derived from natural movements and position of which animal?
Options :

A. # Deer

B. # Tiger

C. ¥ Cat

D. * Cobra

Question Number : 142 Question Id : 6009299385 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AR A1 o STFeR &1 UTgh i T 3R S ¥ gad foar T g2
Options :

A. % fgRor

B. # d[Y

C. ¢ foceft

D. # PIeRT




Question Number : 143 Question Id : 6009299386 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the meaning of the word 'Hatha' ?
Options :

A. # Earth and Wind

B. # Fire and Water

C. * Yin and Yang

D. ¥ Sun and Moon

Question Number : 143 Question Id : 6009299386 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TS Weg 1 3 AT g2

Options :

A. % Tt 3R gal

B. ¥ 3 SR 9

C. % R R AT

D. ¢ IS 3R dlq

Question Number : 144 Question Id : 6009299387 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Test used to measure Cardio-respiratory endurance is test.

Options :

A. ¥ Thread mill
B. ¥ Tense meter
C. ¥ Dynamometer
D. #¥ Cyber

Question Number : 144 Question Id : 6009299387 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

TG- 4 TERIG 1 A0 & 7T ST fora < aren wreqor T g |
Options :

A. ¥ ¢Sl

B. % THHIR

C. % ITTeQrHT!

D. ® HIgs}

Question Number : 145 Question Id : 6009299388 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Assessment of flexibility is done with the help of

Options :

A. ¥ Dynamometer
B. # Tense meter
C. # Cyber

D. ¥ Goniometry

Question Number : 145 Question Id : 6009299388 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AU BT 3MHAT o TgTgar ¥ fHar Srar gl
Options :

A. ® TS

B. % T HIR

C. % gl

D. ¢ MG

Question Number : 146 Question Id : 6009299389 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Which one of the following instruments comes under the preview of Anthropometry?
Options :

A. # Ultrasound

B. ¢ Skin Fold Calliper

C. # Dynamometer

D. ¥ Treadmill

Question Number : 146 Question Id : 6009299389 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad # 9 &9 91 IuHRu AFaflfa & yafadie & Siard i |2
Options :

A. ¥ IRIYAY

B. ¥ T BICTOR

C. % JT-TeerHTd!

D. ¥ ¢efiid

Question Number : 147 Question Id : 6009299390 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Queens college step test is used to measure
Options :

A. ¥ Cardio-vascular
B. # Endurance
C. ¥ Flexibility
D. # Heart Rate

Question Number : 147 Question Id : 6009299390 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
HIY Dlciel WU TIEUT BT JUIIT &1 A0 & fore fpan Srar 8|

Options :



A. ¢ gadifel
B. % Tl
C. ® g
D. ¥ ged

Question Number : 148 Question Id : 6009299391 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Ergometry is a process by which we measure

Options :

A. ¥ Brain Activity
B. # Cardiac output
C. ¥ Muscle Potential
D. # Lung capacity

Question Number : 148 Question Id : 6009299391 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e T uishar & R gRIgH HIHUA S,

Options :

A. % TR Tfcfafe
B. % gadl 3I3cyc

C. ¢ HIGURET &1 &l
D. % Thg| Bl &l

Question Number : 149 Question Id : 6009299392 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Tennis skill is measured by which of the following tests?
Options :

A. # Miller Wall Volley Test



B. * Mc Donald's Test
C. ¥ Dyers Test
D. * Kraus Weber Test

Question Number : 149 Question Id : 6009299392 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

< PIRTe &1 fAfaRad & ¥ fa giaron gRT A7dT ST 87
Options :

A. # TR 9id dlcil ¢

B. ¥ UHgcs ¢

C. ¥ SRR K

D. % 1Y deR ¢

Question Number : 150 Question Id : 6009299393 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Name the test to determine the cardio-vascular efficiency.
Options :

A. ¥ Harvard test

B. # Cooper Test

C. # Margaria Step Test

D. #* Bench Test

Question Number : 150 Question Id : 6009299393 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

geudifed! gerar fAuiid e & forg e &1 719 sarsu|
Options :

A. ¥ BTIdS Uiem
B. ¥ HUR U&0l



C. ¥ ARG Y ulem
D. # o= TRI&

Question Number : 151 Question Id : 6009299394 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Modern technology has been said to increase participation in sport. Which one of the following has had the greatest impact?
Options :

A. # The design of sports clothing

B. # The use of composite materials that make sports equipment lighter and stronger

C. # The development of climate chambers that can mimic different environment conditions

D. ¢ The provision of sporting facilities

Question Number : 151 Question Id : 6009299394 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ig He1 T & [ YA db-iiop Wl § HRTaR! deral o | Fafafed # 4 fordd gad siftie gura usT 82
Options :

A. % Ud P HUS| B fSog

B. % Wd IUBR] B bl 3R Ao §1 arent Ff3ra I &1 IugiT

C. % Saarg Hefl o1 fawr ot fafte yafazoia uRkfufadl &1 9ed &R a&d §

D. ¢ 9d faursil &1 uraum

Question Number : 152 Question Id : 6009299395 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The efforts to control the use of performance enhancing drugs in sports will only be effective if they:
Options :

A. ¥ Recognize that most use of drugs is a form of deviant over conformity

B. ® Appeal to personal values of athletes themselves

C. # Provide education programmers emphasizing the dangers of drug abuse



D. ¥ Appeal for fair play within sports

Question Number : 152 Question Id : 6009299395 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T H UG g arel garsfl & IUANT &l fFRifd & & T dad aut uHTE g1 99 a:
Options :

A. ¢ T8 AT o6 garsft &1 SHfIHIRT STINT STeudl & SR fdge ST T §

B. % W Uydiiel & AfdaTd Yedi o forg srdta

C. % IRITel garsfi & GIUANT & TRl IR SR &d gU FRI&T HRIGH U™ Hl

D. ¥ Wl § (g Wei o 37dia

Question Number : 153 Question Id : 6009299396 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Athlete Biological Passport is part of modern technology. What is its main function in elite sport?
Options :

A. # It is an excellent alternative to ensure fair outcomes

B. ¥ It profiles biological markers of doping and results of doping tests

C. # Itis administered to establish whether an athlete is manipulating his/her physiological variables

D. # It serves as a platform for an ethical Rule of Sport

Question Number : 153 Question Id : 6009299396 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TYdIe Sifdes UrUIc 3Myfies debiich bl fRTHT 81 Hei Wil H 38| A BT 1 &7

Options :

A. * e gRome gRfd oA & 1 U8 Iy fAeeu @

B. ¢ T8 SIfUT & SIfddh ATHRI 3R ST TRA&0N & TRUIHI & TURMT R HdT &

C. % g RIfd 3 & forg u=nfrd faran STt § o 31 13 Telie o Iies wR H 830 a2 TE1Re! §
D. # U8 WA & Afae oy & fore da & wu § 1 w1 g




Question Number : 154 Question Id : 6009299397 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Sports entertainment in the twenty first century has seen the emergence of the sports pundit. Identify from one of the following, the key role of a
sports pundit:

Options :

A. % To provide spectator interest and excitement

B. # To communicate results to an audience

C. ¥ To offer his or her opinion or commentary on a particular subject area

D. # To provide for rest breaks during a sporting contest

Question Number : 154 Question Id : 6009299397 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

P Ial G T e AR A W Ufed o7 3¢ a1 7 | Fafeiaa # § fadt e 9a ufsd ot u it & ugam:
Options :

A. % W] D1 3 3R I8 U B & forg

B. % Gxid] &I URUMH IR B & forw

C. ¢ {5t faRy faw &7 wR oot 3 a1 fewgoft & & e

D. % WdAHG YA & QR [AYTH ST AR B & 1T

Question Number : 155 Question Id : 6009299398 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Video review was introduced to which sport in 2009 to review foul ball and homeruns?
Options :

A. # Football

B. ¥ Baseball

C. # Cricket

D. # Rugby



Question Number : 155 Question Id : 6009299398 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

BI3d SId 3R 81 T B gHten & g 2009 H o Wa & fer difsal frog O farar mar um
Options :

A. * pedid

B. ¥ 99dId

C. ® fohdbe

D. ¥ Il

Question Number : 156 Question Id : 6009299399 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which technological development in Paralympics' sport is a type of prosthetic?
Options :

A. #* Propone

B. # Game analysis software

C. # Cambered wheels

D. ¥ Running blades

Question Number : 156 Question Id : 6009299399 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

RIS T & S AT dh-1h! (9B T UHR & HEAH 3782
Options :

A. ® U

B. ¥ Wl [IRiyor JiteaR

C. ¥ DHIRS @I

D. ¢ AT =g

Question Number : 157 Question Id : 6009299400 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Root mean square deviation is also called
Options :

A. # Mean Deviation

B. ¥ Standard Deviation

C. % Variance

D. # Correlation

Question Number : 157 Question Id : 6009299400 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Td /1 ¥ faae &l ft HgT ST g |
Options :

A. % A1y fa=re

B. ¥ A fa<e

C. # YIRT

D. # ¥

Question Number : 158 Question Id : 6009299401 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The average amount by which the quartiles differ from the median is represented by the

Options :

A. # Range

B. # Inter - Quartile Range
C. ¥ Quartile Deviation

D. # Mean Deviation

Question Number : 158 Question Id : 6009299401 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



3 R e gRT I mfere A RE e ], SR T 1
Options :

A ® 3

B. # ﬁ:ﬂﬂ%%ﬁ

C. ¥ I faaad

D. * Ty foaeH

Question Number : 159 Question Id : 6009299402 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Product moment coefficient of correlation measures which particular type of relationship between two variables?
Options :

A. ¥ Linear

B. # Curvilinear

C. % Parabolic

D. # Circular

Question Number : 159 Question Id : 6009299402 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

U {TERUT T8-a TN &l oRi & o9 [y fa=iy UHR & &Y Sl ATt 82
Options :

A. ' IED

B. ¥ qehyl

C. % RIARID

D. % gug

Question Number : 160 Question Id : 6009299403 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The formula 3 median - 2 mean is used to compute:



Options :

A. # Arithmetic Mean
B. # Weighted Mean
C. # Median

D. ¥ Mode

Question Number : 160 Question Id : 6009299403 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3 3 HIHT - 2 T BT IGANT -5 B} 0T o ford foham i 6:

Options :
A. % 3fepTIfOrd |
B. ¥ HIRd H1ex
C. % HIfeyeh
D. ¥ HIS
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Group Number : 9
Group Id : 600929338
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Group Marks : 20
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Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20
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Question Shuffling Allowed : Yes

Question Number : 161 Question Id : 6009299404 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sampling method chosen when the members of a special population are difficult to locate is:
Options :

A. # A Variability sampling

B. # Purposive sampling

C. ¥ Snowball Sampling

D. # Dimensional Sampling

Question Number : 161 Question Id : 6009299404 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

OIe U IR ST & &} 1 UdT I HfRh e 81dT & ad g1 718 T ol fafdy 2

Options :

A. ¥ TH R THATHROT
B. ¥ e TLATHRUI

C. ¢ Jdld THATHRI

D. % 3TITHT THATHRT

Question Number : 162 Question Id : 6009299405 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
‘Hunch back’ is also known as

Options :

A. # Back pain
B. # Scoliosis

C. # Lordosis

D. ¥ Kyphosis

Question Number : 162 Question Id : 6009299405 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FIGER UIe' B & EUH Rt TS
Options :

A # dle g

B. % eIy

C. ® ARSIRY

D. ¢ TBIRY

Question Number : 163 Question Id : 6009299406 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

When the pivot is at the elbow and the forearm acts as the lever arm, it is which class of lever?
Options :

A. ¥ (Class 3

B. # Class 1

C. # (Class 2

D. # Class 4

Question Number : 163 Question Id : 6009299406 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



wid 43 (fiae) Bie W il B 3R TS It 3 & T4 F BT Bl 8, o T Iieleb bl B 91 il 22
Options :
A. T3
B. % qf |
C. % a2
D. % Tl 4

Question Number : 164 Question Id : 6009299407 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Bending forward of the trunk is an example of movement in the

Options :

A. * Frontal plane

B. # Transverse plane
C. ¥ Sagittal plane

D. # Longitudinal axis

Question Number : 164 Question Id : 6009299407 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YS () B 3 fob TRB FHTI, H 71fd BT U ITeRUI B |
Options :

A. % Thed @

B. ¥ TGy Wi

C. ¥ giiId WA

D. ¥ QRS oy

Question Number : 165 Question Id : 6009299408 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
An angle between the line of the muscle fiber alignment and the longitudinal axis of the muscle is:



Options :

A. # Angle of Pull
B. # Absolute angle
C. # Resultant angle

D. ¥ Pennation angle

Question Number : 165 Question Id : 6009299408 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HIURI =M TR0 BT 3@ 3R AGURR & ARIfSTe Uy & sia BT HIvl &:
Options :

A. % T 1% Yo

B. ¥ 3feHleygc e

C. % Relecte T

D. ¢ U3 W

Question Number : 166 Question Id : 6009299409 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Any external resistance that remains constant throughout the movement is

Options :

A. # Isoinertial Resistance
B. # Isokinetic Resistance
C. # Isometric Resistance

D. # Isotonic Resistance

Question Number : 166 Question Id : 6009299409 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Bis W sTedt ufcRly Sl g ifd # FRRR @ @, g

Options :




A. % YA IR
B. ¥ 3UIBRACH JoRed
C. ¥ 3fUMAfed o™
D. ¢ 3fSHICIM® oy

Question Number : 167 Question Id : 6009299410 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
When a concave joint surface moves on a convex stationary joint surface, its roll and slides occurs in

Options :

A. ¥ Same Direction

B. # Opposite Direction
C. # All Direction

D. # Horizontal Direction

Question Number : 167 Question Id : 6009299410 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

OTd U 3(add oIS Idg 30 (R SIS qde WR Idd! 5, Al 39D qabId 3R e Agarg|
Options :

A. ¢ T fa=m

B. # faudiq famm

C. % guff femm

D. * &fas faz=m

Question Number : 168 Question Id : 6009299411 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What does PNF stand for?
Options :

A. ¥ Proprioceptive Neuromuscular Facilitation



B. # Proprioceptive Neuromuscular Facilitate
C. # Proprioception Neuromuscular Facilitate

D. # Proprioception Neuromuscular Facilitation

Question Number : 168 Question Id : 6009299411 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f T U (PNF) &1 & 31 32
Options :

Question Number : 169 Question Id : 6009299412 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The "C" in the acronym R.I.C.E. stands for:
Options :

A. % Constant

B. ® Consistent

C. # Complement

D. ¥ Compression

Question Number : 169 Question Id : 6009299412 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ORauT e R.I.C.E H "C" &7 31 5
Options :

A. ¥ BT

B. ¥ BIRRCT



C. % HIHE
D. ¥ BRI

Question Number : 170 Question Id : 6009299413 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Speed Play Means

Options :

A. * Interval Training

B. ¢ Fartlek Training

C. # Cross Training

D. # Speed Training

Question Number : 170 Question Id : 6009299413 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Wis @ &1 37 g
Options :

A. ® $oxqd e+

B. ¥ WICdd ¢

C. % b1g ¢

D. ¥ Wig ¢f+

Question Number : 171 Question Id : 6009299414 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
All of the following are advantages of open chain exercise, except

Options :
A. # Exercise for non weight bearing positional
B. # Able to isolate muscle

C. # Interval joint compression



D. ¥ Able to exercise through increased ROM

Question Number : 171 Question Id : 6009299414 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafofed @it 9 DI BISHR, NG o TTTH & TH g |
Options :

A. ¥ YRaTe! Rufd & forg =mamm

B. # TIAUTRTY &Y e B3 | TerH

C. % cad vigc HAITH

D. ¢ §GI §% ROM & AN I AT 3+ H T&d

Question Number : 172 Question Id : 6009299415 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Where is the largest tendon in the body?
Options :

A. # Pelvis

B. ¥ Heel

C. # neck

D. # Shoulder

Question Number : 172 Question Id : 6009299415 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
YRR H G T5T HUSI (S S) FBl 82
Options :

A. % oifor

B. ¥ TSl

C. % e

D. ¥ Yl




Question Number : 173 Question Id : 6009299416 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which Olympic did women participate for the first time?
Options :

A. % 1896 Athens

B. ¥ 1900 Paris

C. # 1920 Antwerp

D. # 1928 Amsterdam

Question Number : 173 Question Id : 6009299416 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Aigeal = ugell IR food Siietieties § Hi fera Ut
Options :

A. ¥ 1896 TIH

B. ¥ 1900 URY

C. ¥ 1920 Ueqy

D. ¥ 1928 TRceH

Question Number : 174 Question Id : 6009299417 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Mass Media legitimize the audience's :
Options :

A. # Family relation

B. # Power structure

C. # Political connection

D. ¥ Prestige and status

Question Number : 174 Question Id : 6009299417 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

SHYS I1eA g=ie! T 3y § 1T |-
Options :

A. % TIRaIRG day

B. % Xfaq A=A

C. % oD HaY

D. ¢ GRS 3R afer

Question Number : 175 Question Id : 6009299418 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Communication sustainable for development focuses on:
Options :

A. ¥ Transformation learning

B. # Participatory Rejection

C. # Decision Making

D. # Application for Corporate Technique

Question Number : 175 Question Id : 6009299418 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
faeTa & forg wdd TaR g R B &:

Options :

A. ¢ TRadH Riem

B. ¥ UgHI 3dipid

C. ® fAuig oA

D. # HIURE dh-Id & T 3Mde

Question Number : 176 Question Id : 6009299419 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Which is the largest cricket stadium in the world?
Options :

A. # Eden Garden

B. ¥ Motera Stadium

C. # Lord's Cricket Stadium

D. * Melbourne Cricket Stadium

Question Number : 176 Question Id : 6009299419 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3y &1 Ta8 9371 fbpe WfggH P A1 B2
Options :

A. % 3 TTTeA

B. ¥ HICT Wfeun

C. ® digy fbare wiean

D. % Hes fshare WieaH

Question Number : 177 Question Id : 6009299420 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Since which year the nature of sports and mass media relationship has been distinctly shaped by American Capitalism?
Options :

A. % 1831

B. ¥ 1931

C. ¥ 1830

D. # 1930

Question Number : 177 Question Id : 6009299420 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fore oy § sMfen! Yoflare gRT ¥d 3R SHUUD A1 et &1 Ui & WY U § R foar T g2



Options :
A. % 1831
B. # 1931
C. ¥ 1830
D. # 1930

Question Number : 178 Question Id : 6009299421 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who is the first Indian Woman to win an Olympic medal for India?
Options :

A. * Saina Nehwal

B. ¥ Karman Malleshwari

C. # Sakshi Malik

D. # P.V. Sindhu

Question Number : 178 Question Id : 6009299421 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR & 1T SNeRID Uae Sild dTell Ugel YR Aigdl B 82
Options :

A. % T g

B. ¥ HUM Acaiy

C. * raft Hfcrep

D. * Ui dl Ry

Question Number : 179 Question Id : 6009299422 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which is the highest sporting award in India?
Options :



A. ¥ Rajiv Gandhi Khel Ratna Award
B. # Dhyanchand Award

C. ® Dronacharya Award

D. # Arjuna Award

Question Number : 179 Question Id : 6009299422 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
YR ¥ Tate W REBR DI 1 82
Options :

A. ¢ I[Sia e Wl 7 REDR

B. ¥ €Tdq RIPR

C. % ZUE RIBR

D. ¥ 3o QRIPR

Question Number : 180 Question Id : 6009299423 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Kinetic Energy Recovery System (KERS) belongs to which sport?
Options :

A. # Kayaking

B. # Rugby

C. # Ice Hockey

D. ¥ Auto Racing

Question Number : 180 Question Id : 6009299423 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

BIEATCH ol Repar] RieH by W @ Heferd g2
Options :

A. % BB



B. ® W&l
C. # I BID!
D. ¢ 3ifel IR
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Question Number : 181 Question Id : 6009299424 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

The fund constituted to assist sports persons of yester years who had brought glory to the Country in sports but are now living in indignant
circumstances is for Sportspersons.

Options :

A. #* Rural Sports Program

B. ¥ National Welfare fund

C. # National Sports Development Fund

D. # Indian Retirement Fund

Question Number : 181 Question Id : 6009299424 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

WA & & H <= BT A TRaTad PR a1l fetrs! afeb srel fasve uRfRuferdl 7 S 38 @, 37! Ul awl &1 wgraar & forg mfad [fd,
Rerenfeat o fer gl

Options :

A. % YU Qe HRIHH

B. ¢ P B0 HIY

C. % P B R B

D. ¥ HRdIY YaT-gfi By

Question Number : 182 Question Id : 6009299425 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Intramural program creates in students a sense of

Options :

A. # Discipline

B. ¥ Humour and Respect

C. ¥ Involvement and Achievement

D. # Achievement

Question Number : 182 Question Id : 6009299425 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

SRS HRIiH ST H Pt HIGAT ITT PRAT 5 |
Options :

A. ¥ 3R

B. ¥ BT 3R M

C. ¥ HIERY 3R Iuafs

D. ¥ JUaisd

Question Number : 183 Question Id : 6009299426 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Effective communication is essential in sports management to keep live its

Options :

A. # Character
B. # Principle
C. # Foundation

D. ¥ Dynamics

Question Number : 183 Question Id : 6009299426 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T e H S0 &I Sidd W & foTT YT TR SHTa=RTH 5 |
Options :

A. % TIR=F

B. % figid

C. # YR

D. ¢ Tifdeh!

Question Number : 184 Question Id : 6009299427 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Which of the following is the first step in sports Management?
Options :

A. # Directing

B. ¥ Planning

C. # Budgeting

D. % Staffing

Question Number : 184 Question Id : 6009299427 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e § 3 ®F 91 9d UeeE § Ugdl HeH 67
Options :

A. % T HATTC]

B. ¢ Gl

C. % §olchi

D. % fAgfaqe

Question Number : 185 Question Id : 6009299428 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

An outline of the topics of a subject to be covered in specific time is called :
Options :

A. ¥ Syllabus

B. # Course

C. # Semester

D. # Programmed

Question Number : 185 Question Id : 6009299428 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafRry grg & g fbu oM AT et fawg & U &t S0 &) Bl Sl &:

Options :



A. ¢ TSI
B. # HRIYUNG!
C. % BTG

D. ¥ OoeG

Question Number : 186 Question Id : 6009299429 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Leadership is a behavioural process which focuses on

Options :

A. ¥ Developing and maintaining good relationship

B. # Situational characteristics of the group

C. ¥ Influencing individuals and group towards set goals

D. # Setting goals and getting job done

Question Number : 186 Question Id : 6009299429 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A U HagIRG Ufehar g ot BREIEGE]
Options :

A. % 35 Yoy fap g ST 3R §97T 351

B. % Uqg & fYfqs=g fa=iwdmg

c. ¢ Fuffed aeal @t 3R Afaaal 3R THg &1 wHIfad ST
D. * A& Fyfftd &3 3R S IR ram

Question Number : 187 Question Id : 6009299430 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The 1st AIMS International Congress of Sports Medicine was held during the IXth Summer Olympic Games held in Amsterdam, The
Netherlands, in August .

Options :




A. #1938
B. ¥ 1928
C. #1948
D. # 1958

Question Number : 187 Question Id : 6009299430 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3R A YRe A, Hierds # T 1Xd WeHeTe SN Tdl & SR st AIMS SR SR 3T Wiey AfSRe
S{TAfSTd BT 775 At

Options :

A. % 1938

B. ¥ 1928

C. % 1948

D. # 1958

Question Number : 188 Question Id : 6009299431 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Soft tissue injuries are classified as injuries to which of the following .
Options :

A. ¥ Muscles, ligaments, tendons, and Skins

B. * Bone and Skin

C. #* Bone and Teeth

D. # Muscle and bone

Question Number : 188 Question Id : 6009299431 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

RY 30D &1 dic B 9 T ¥ fbd Bt dlc &b U Bl o arffgpd foran ST B

Options :

A. ¢ U=, |G, HUSIT (T8), 3R @l




B. % 3R 3R =
C. % JIfRY AR eid
D. % Uit 3R IfY

Question Number : 189 Question Id : 6009299432 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
'Zygomatic' bone is present in

Options :

A. # Vertebral Column
B. # Upper Limb

C. # Lower Limb

D. % Skull

Question Number : 189 Question Id : 6009299432 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ST e Bl 8|
Options :

A. ¥ HICUS

B. ¥ SO 31

C. % T 3

D. ¢ @St

Question Number : 190 Question Id : 6009299433 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Incomplete recovery is vital in

Options :

A. # Cross Country

B. # Fartlek Training



C. ¢ Interval Training
D. # Continuous Method of Training

Question Number : 190 Question Id : 6009299433 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
 H o gy meaguf R
Options :

A. % B Dl

B. % BICdd o1

C. ¢ $exad ¢+

D. ® ¢ &l Idd fafd

Question Number : 191 Question Id : 6009299434 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The World Health Day is celebrated on
Options :

A. # 1 February

B. # 6 October

C. ¥ 7 April

D. # 26 December

Question Number : 191 Question Id : 6009299434 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fay ey faag &1 HARIT STl 5 |
Options :

A. ® 1 BRaR!

B. ¥ 6 3{dgs}

C. ¥ 7 30



D. % 26 fadeR

Question Number : 192 Question Id : 6009299435 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Carbohydrates are converted into sugar in the
Options :

A. # Liver

B. # Large Intestine

C. # Duodenum

D. ¥ Digestive Tract

Question Number : 192 Question Id : 6009299435 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T prafgrRge o A H gRkafdd farar S |
Options :
A. * gdd
B. ¥ §gard
C. % Jguil

D. ¢ U 83

Question Number : 193 Question Id : 6009299436 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
For energy and strength dominating sports, the diet should be rich in

Options :

A. # Fats

B. ¥ Carbohydrates
C. # Vitamins

D. # Minerals



Question Number : 193 Question Id : 6009299436 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Sl 3R dTehd Uded Tal & AT, MER ¥ IRR gHT AR T
Options :

A. % 94l

B. ¥ H6IsSC

C. * fderfem

D. # ol

Question Number : 194 Question Id : 6009299437 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which vitamin may interact with the anticoagulant Warfarin and increase the risk of excessive bleeding?
Options :

A. # Vitamin A

B. # Vitamin E

C. # Vitamin B12

D. # Vitamin K

Question Number : 194 Question Id : 6009299437 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

&I I faerftm teraaie arhRA & Ty IRER fohar % Tl g SR Sfid IaadTd & SNAH ! g1 Tl 82
Options :

A. % fdeft T (a)

B. % faerfi[a s ()

C. % facid &t (B12)

D. ¢ faeifiF & (K)



Question Number : 195 Question Id : 6009299438 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

During starvation, for about how long do the body's carbohydrate (glycogen) stores last?
Options :

A. ¥ 24 Hours

B. # 72 Hours

C. # 3 Days

D. # 4 Days

Question Number : 195 Question Id : 6009299438 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IUAN & SR IR HT HEEIRST (ARHISH) HSR T U fha Ty o oidl 82
Options :

A. ¥ 24760

B. % 72%¢

c. ® 3feq

D. % 4f&9

Question Number : 196 Question Id : 6009299439 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Kinetic Energy Recovery System is used in

Options :

A. # Javelin throw
B. # Pole vault

C. ¢ Car racing
D. # Volleyball

Question Number : 196 Question Id : 6009299439 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

BT ol Repas] ReH &1 IuIRT A fpar srar g1
Options :

A. % Safer o

B. ¥ Uid dice

C. ¥ BRI

D. ® grefiaie

Question Number : 197 Question Id : 6009299440 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who invented Hawk-Eye technology?
Options :

A. ¥ Dr Paul Hawkins

B. # Tony Lewis

C. # Jaap Haartsen

D. # Ross Tucker

Question Number : 197 Question Id : 6009299440 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
-3 TNl T AASHR e
Options :

A. ¥ Sl Uld gifb=q

B. % T s

C. % S0 geaA

D. % Y TH

Question Number : 198 Question Id : 6009299441 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Goal line technology (GLT) is used in
Options :

A. * Basketball

B. # Handball

C. # Hockey

D. ¢ Football

Question Number : 198 Question Id : 6009299441 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T ATS caIarsi ol ST 7 fpar Srar gl
Options :

A. % Rbedld

B. % g&aid

C. % glpl

D. ¥ Heald

Question Number : 199 Question Id : 6009299442 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The equipments foil and saber belongs to which of the following sports?
Options :

A. ¥ Rowing

B. # Kayaking

C. ¥ Fencing

D. # Skating

Question Number : 199 Question Id : 6009299442 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TRV Brigd 3R e Faferied & ¥ fod W 3 Haifa g7

Options :




A. ® ST
B. ¥ HIfhT
C. ¢ qAdRaTSIt
D. % IhfeT

Question Number : 200 Question Id : 6009299443 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which year was the first televised sports game featuring instant replay introduced?
Options :

A. ¥ 12 November 1960

B. ¥ 7 December 1963

C. # 4 Junel955

D. # 27 June 1951

Question Number : 200 Question Id : 6009299443 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e I U= Rl Iga catfaer wWiey 71 oy au o R fovar am U
Options :

A. % 12 9daR 1960

B. ¢ 7 fd8eR 1963

C. # 4911955

D. % 2797 1951

Discipline6
Group Number : 11
Group Id : 600929340
Group Maximum Duration : 0

Group Minimum Duration : 0



Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No
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Section type : Online
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Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
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Question Shuffling Allowed : Yes

Question Number : 201 Question Id : 6009299444 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The SEMO agility test is suitable for which of the following?
Options :

A. * Weight lifting

B. # 400 Mts Sprint

C. ¥ Badminton

D. * Archery

Question Number : 201 Question Id : 6009299444 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



THSTHST (SEMO) TuerdT aligmr fafaRad & ¥ fedd forg Suged 82
Options :

A. ® YR

B. ® 400 mts fBic

C. ¥ J3fiieq

D. ® yfdan

Question Number : 202 Question Id : 6009299445 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which skill/ability is most important out of the given options for long-distance swimming?
Options :

A. # Agility

B. ¥ Speed

C. ¥ Muscular Endurance

D. ¥ Flexibility

Question Number : 202 Question Id : 6009299445 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e g DI oR1ep! & fore U T faswedl B I DI 91 S I=ia/ & Jad Ag@yul 82
Options :

A. % JUddl

B. ® Tfd

C. ¥ TR TSI

D. # S

Question Number : 203 Question Id : 6009299446 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A well balanced is necessary for a sportsperson to replenish her vitamins, minerals and protein needs.




Options :

A. ¥ Food and Nutrition
B. # Routine and Schedule
C. # Environment

D. # Fitness

Question Number : 203 Question Id : 6009299446 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

% Iargt & o faerfiq, @i sfik Ui & oRed! &l IRT 64 o o8 U 31T Agferd TS & |
Options :

A. ¥ YIS 3R TINoT

B. ¥ fqaaf 3R HriwHH

C. # d[drdaRur

D. ¥ ftheg

Question Number : 204 Question Id : 6009299447 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A beep test score of 14 would suggest what level of fitness for an athlete in 18 to 25 age group?
Options :

A. % Average

B. # Poor

C. * Good

D. ¥ Excellent

Question Number : 204 Question Id : 6009299447 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
18 ¥ 25 BI MY T & Tyctie T 14 BT Y e WR by TR HT WY dTdl 82

Options :



A. ® 3a
B. ¥ gdd
C. % 3wl
D. ¢ 3ffd IPHY

Question Number : 205 Question Id : 6009299448 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

All of the following are the benefits of an effective lifestyle management programme, except:
Options :

A. # Improve productivity

B. # Reduce the incidence and severity of chronic health conditions.

C. # Reduce medical and healthcare costs

D. ¥ Guaranteed long life

Question Number : 205 Question Id : 6009299448 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad @ 9 @t e gure sias el Teies wrded & Ay €, Riam:
Options :

A. % JAGHA H GUR

B. % QR Wy fRufadl &t geraft iR iRar &1 &9 &

C. % RIforc iR WG U &1 AT HH Bl §

D. ¢ 314 Al Siia

Question Number : 206 Question Id : 6009299449 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

There are five components of physical fitness that you need to consider. Which of the following is NOT one of these 5 components of health-
related physical fitness?

Options :
A. # muscular flexibility



B. ¥ strong self image
C. # endurance

D. #* body composition

Question Number : 206 Question Id : 6009299449 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

grﬂﬁ:;gw%ﬁm%ﬁquwmﬁﬁ&mw%lﬁgﬁf@aﬁﬁﬁqwﬁa‘%ﬁmﬂﬂ?ﬁw$ﬁsaﬁﬁ
udh ?

Options :

A. % TRGR Fafefaferct

B. ¥ Tolqd 3T Bfd

C. % TSR

D. % YRR DI G

Question Number : 207 Question Id : 6009299450 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Diabetes is a characterized by high blood sugar levels.

Options :

A. ¥ Metabolic disorder

B. # Decrease in physical activity

C. # Disease that primarily affects women

D. # Dietary issue

Question Number : 207 Question Id : 6009299450 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Tyig g O I Xad XhRT I TR GRT afvid 3|
Options :

A. ¢ TOUY fdbR



B. * IR Tfafafy & Het
C. ® INT S g=& U 9 Higarsii &) THIfad o g
D. ¥ 3{IgR Yadi grw

Question Number : 208 Question Id : 6009299451 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Wellness for a student includes all of the following EXCEPT:
Options :

A. ¥ Physical health

B. # Environmental health

C. ¥ Occupational health

D. ¥ Spiritual health

Question Number : 208 Question Id : 6009299451 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T B & fore weamr H Fafiad g wnfee 8, Ryam:
Options :

A. * FRIRG Wy

B. ¥ Ugiquily W@y

C. ¥ YIRS WA

D. ¥ TS WY

Question Number : 209 Question Id : 6009299452 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Psychological skill training maximizes the combination of skills.

1) Technical 2) Tactical 3) Psychological 4) Physical
Options :
A. # land 4



B. # 2 and 3
C. # Only 3
D. ¥ 12,3, and 4

Question Number : 209 Question Id : 6009299452 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
G DI UrRrefor HIA b TGO B 3P TSI HRAT g |

1) A 2) THRE 3) FAIGRITD 4) ARIND
Options :

A % 13IR4

B. # 2 3R 3

C. % Had 3

D. ¥ 123, 3R 4

Question Number : 210 Question Id : 6009299453 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Mental development is an important aspect of growth. Mental development is mostly concerned with which of the following?
Options :

A. # External and Internal Organs

B. ¥ Reasoning and thinking

C. # Ethical and Moral systems

D. # Emotional Maturity

Question Number : 210 Question Id : 6009299453 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
AR fawN, faw™ &1 Hedqul Usd ¢ | ARG fae T U 9 FufaRad & § feey defd g2

Options :

A. ® eI 3R TR 3T



B. ¥ db IR I
C. # HifomRe 3R A yomett
D. % YIgHTHD TRl

Question Number : 211 Question Id : 6009299454 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The Law of Effect principle developed by Edward Thorndike is also known as

Options :

A. # Law of use and disuse
B. ¥ Law of Satisfaction
C. # Law of regency

D. # Law of Frequency

Question Number : 211 Question Id : 6009299454 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Tsds UHaSRd gRI fasfa yvra o1 Aoy Rigid &t & IH I W ST ST
Options :

A. % JUTNT 3R AT & g\

B. ¢ I & fam

C. % okt & |

D. ¥ 3l & Faa

Question Number : 212 Question Id : 6009299455 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Motor skills are movements and actions of the muscles. Motor skills are learnt best by

Options :
A. ¥ Practice

B. ¥ Memorization



C. % Imitation

D. #* Observation

Question Number : 212 Question Id : 6009299455 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Aex fepd ArguilRE ot nfa 3R fosame 81 Aier pa gRI gataH U 3 Ia 914 § |
Options :

A. ¥ JYY

B. % Ylq hAl

C. % 3IHT

D. ¥ 3[@died

Question Number : 213 Question Id : 6009299456 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Plato is known as, 'Father of

Options :

A. # Naturalism
B. # Pragmatism
C. # Realism

D. ¥ Idealism

Question Number : 213 Question Id : 6009299456 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
SEEIR &1 %' Hgl ol g |
Options :

A. % UPHiddig

B. # FagINFHdde

C. % gYIarg




D. ¢ 3MgxdlG

Question Number : 214 Question Id : 6009299457 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the Data View in the SPSS Data Editor, each row represents what?
Options :

A. # A data point

B. # A missing value

C. # A variable

D. ¥ A Case

Question Number : 214 Question Id : 6009299457 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TIUUHTY (SPSS) ST Ufger H ST 22 #, U 3 fhge ufafifia adl 82
Options :

A. % Scrfdg

B. # Ud Jtd HIT

C. # Uh =R

D. ¥ Udh HIHAT

Question Number : 215 Question Id : 6009299458 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
SPSS uses the term 'Scale' to refer to

Options :

A. # Both nominal and ordinal level data
B. # Categorical data

C. ¥ Both interval and ratio level data
D. * Only Ratio Level Data



Question Number : 215 Question Id : 6009299458 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

THUITHTY (SPSS) &I Gefifd B & forT W al' Tsg &1 ST HRAT 5
Options :

A. ® b 3R HUS Sl TR & Sl

B. % gaiffg ge1

C. ¢ T 3R STUTd TR el Gl
D. # $ad 3{Urd Wk Scl

Question Number : 216 Question Id : 6009299459 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
After importing data into SPSS, and at the Data View screen, to begin the calculation of chi square we have to do the steps in which order?

Options :

A. # Click on Analyze > Crosstabs > Descriptive Statistics
B. ¥ Click on Analyze > Descriptive Statistics > Crosstabs
C. # Click on Crosstabs > Descriptive Statistics > Analyze
D. # Click on Crosstabs > Analyze > Descriptive Statistics

Question Number : 216 Question Id : 6009299459 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TUUTIEY (SPSS) H ST I 1 & §1E, 3R el o Thi- W, I WHIR B! TUHT [ HA & o8 g1 5 HH T H1RaTs Bt gRi?
Options :

A. ¥ TAARS>HRe > fSRpPa Riefes | faas a3

B. ¥ TATASS > [&fepPa wiefer > pRead IR fadd

C. % HRCTY > qUHTHD FiRHD! > TATAIZS WR ot b

D. ¥ BT > TR > fSRepva wieRer &R faas &%




Question Number : 217 Question Id : 6009299460 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
All those types of computer memories that are directly accessed by the processor using data bus are called

Options :

A. ¥ Primary storage
B. # Internal memory
C. ¥ Primary memory

D. * Secondary memory

Question Number : 217 Question Id : 6009299460 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

d 9t TR &1 Hgex Wi ST ST 99 BT SUIN HRop TR gRT A1 SR (TR &1 St 8,89 Hel oIl §
Options :

A. * URfYS HSRU

B. # 3fidRe HAR

C. v g Hfd

D. * MU

Question Number : 218 Question Id : 6009299461 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

All of the following can be easily accomplished using SPSS and cannot be easily accomplished using excel?
Options :

A. ¥ PLUM regression

B. ¥ Multi-dimensional scaling

C. ¥ Pivot Tables

D. # Descriptive Ratio Analysis

Question Number : 218 Question Id : 6009299461 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

frafafad & @ Tt o1 Taiiuaey (Spss) T IUANT dReb AT R faat o Tehdl g MR Yad &1 SUTNT HRah ST § GRT g
o ST Wb el 82

Options :

A. ® @H (PLUM) RIIRH

B. ¥ Hecl-SOHRMA WhicHT

C. ¢ fUge ¢a

D. % S¥pDd Tl TR

Question Number : 219 Question Id : 6009299462 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Bullet start is also known as

Options :

A. * Elongated start

B. # Sitting Start

C. ¢ Bunch Start

D. # Medium Start

Question Number : 219 Question Id : 6009299462 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

qic WCIC BI & =g H ff AT A B
Options :

A. % TANCS WiE

B. * Ryfdmwrc

C. ¥ S X

D. % Hif$an wré

Question Number : 220 Question Id : 6009299463 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Weight of cross bar in high jump is
Options :

A. ¥ 2Kg

B. # 3.5Kg

C. % 4Kg

D. # 25Kg

Question Number : 220 Question Id : 6009299463 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

$d1 BG | PHiY aR B ao H6IE
Options :
A. ¥ 2Kg
B. ® 3.5Kg
C. # 4Kg
D. # 25Kg
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Question Number : 221 Question Id : 6009299464 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the standard width of track marking ?
Options :

A. # 0.15m

B. % 0.2m

C. ®# 0.05cm

D. ¥ 0.05m

Question Number : 221 Question Id : 6009299464 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e HIfhTT ! AFD SIS HT 82
Options :

A. # 0.15m

B. # 0.2m

C. % 0.05cm

D. ¥ 0.05m



Question Number : 222 Question Id : 6009299465 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In 110 meters hurdle race, the distance between the starting line and the first hurdle is

Options :

A. % 1272 m
B. # 11.72m
C. % 10.72m
D. ¥ 13.72m

Question Number : 222 Question Id : 6009299465 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

110 Hiex S1e1 Srs &, IR YT 3R Ugel §141 & offd P gt gl
Options :

A. % 1272 m

B. ®# 11.72m

C. % 10.72m

D. ¥ 13.72 m

Question Number : 223 Question Id : 6009299466 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a track event, when is an athlete judged as a winner?
Options :

A. ¥ When the toe crosses the finishing line

B. ¥ When the torso crosses the finishing line

C. * When the knee crosses the finishing line

D. * When the head crosses the finishing line

Question Number : 223 Question Id : 6009299466 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

U% ¢ 3dc H, U TYic B! fasiar & U § &dl 3fiehT STl 82
Options :

A. % T9 TR BT 3BT 3ifad Y\ FH) UR &Rl 8

B. ¢ 99 YS 3{fdH YW1 &) UR HdT 8

C. % S e 3o Y@ 61 IR HRaT 8

D. % od RR 3ife &1 & UR Rl &

Question Number : 224 Question Id : 6009299467 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following are the 3 parts and the correct sequence of actions taken in a Triple jump?
Options :

A. ¥ Run-leap-Land

B. # Jump-skip-Land

C. ¥ Hop-step-Jump

D. # Hop-jump-Step

Question Number : 224 Question Id : 6009299467 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feue siu # frufafed § 3§ &9 9 3 YT SR fharsi &1 98 % 82
Options :

A. ® YITI-SAT-SH TR IRAT

B. ¥ He1-BISHI-SHA TR Sl

C. ¥ 3B Al- HGH G- gl

D. # I9A-HG-hGH G-I

Question Number : 225 Question Id : 6009299468 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

IAAF (International Association of Athletics Federations, formerly International Amateur Athletic Federation) was formed in the year
of

Options :
A. % 1972
B. # 1952
C. #1932
D. ¥ 1912

Question Number : 225 Question Id : 6009299468 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IAAF (3¢TRMA THIRIURM 3T Tucifcad e =M, Jd H $e-9Md THAER TYTicd 1heRM) &I 16 Iy T fopar T AT
Options :

A. #1972

B. ¥ 1952

C. %1932

D. ¥ 1912

Question Number : 226 Question Id : 6009299469 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
For the Tokyo Olympics 2020 in the freestyle swimming events will be for all of the following distances, except

Options :
A. ¥ 1000m
B. # 1500m
C. % 50m
D. # 800m

Question Number : 226 Question Id : 6009299469 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



IR S 2020 & o PRRETSd o1 ¢ FyferRad 9t gt & forg gith, Riama
Options :

A. ¥ 1000m

B. % 1500m

C. % 50m

D. # 800m

Question Number : 227 Question Id : 6009299470 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Winning the Thomas Cup, trophy signifies world supremacy in the sport of

Options :

A. # Hockey
B. # Chess

C. ¢ Badminton

D. # Tennis

Question Number : 227 Question Id : 6009299470 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YT &Y I ST & 9d ¥ fay g &1 U@ 3|
Options :

A. ¥ Gl

B. ¥ YRS

C. ¥ Ssfiica

D. % 29

Question Number : 228 Question Id : 6009299471 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The term 'Home Run' is generally used in which of the following sports?
Options :



A. # Relay Races
B. # Football

C. ¥ Baseball

D. ¥ Rugby

Question Number : 228 Question Id : 6009299471 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

B I Xeg 1 YA A Fafafed & € fow @a o fovar Siran g2
Options :

A % s

B. ¥ sl

C. ¥ Sqaid

D. ¥ Wl

Question Number : 229 Question Id : 6009299472 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

When was the first official international football match played? It was played between the national teams of Scotland and England.
Options :

A. #1870

B. ¥ 1872

C. #1902

D. # 1929

Question Number : 229 Question Id : 6009299472 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ugdl SRR AR Pedld Hd b Wl T UT? Ug WhICaUS 3R §71s &1 AP Sl & did dar 7T |
Options :

A. #1870




B. ¥ 1872
C. # 1902
D. # 1929

Question Number : 230 Question Id : 6009299473 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who amongst the following is a recipient of both these awards: the Arjuna award and Dronacharya award?
Options :

A. # Tarundeep Rai

B. ¥ Sanjeeva Singh

C. # Arjun Munda

D. # Purnima Mahato

Question Number : 230 Question Id : 6009299473 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafied & ¥ & 39 aFI RIBRI &1 UTadhdl 8: 3o REPR 3R JI0MER RER?
Options :

A. % TRUEIU R

B. ¥ duitq g

C. % ST T

D. ® gfofar Agdl

Question Number : 231 Question Id : 6009299474 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is a postural deformity in which the legs are bent inward and knees strike each other while walking or running.

Options :
A. # Scoliosis

B. # Lordosis



C. # Kyphosis
D. ¥ Genu Velgum

Question Number : 231 Question Id : 6009299474 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3T faspfa 8 Forw IR 3feR &t 3R 43 §U B § SR Tad 1 SIed IHY Yo U guk J Tahvld g |

Options :

A. % H3dehdl
B. # HUpooldl
C. % 9ds

D. ¥ 4]

Question Number : 232 Question Id : 6009299475 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Obesity can be the cause of all of the following diseases, except:
Options :

A. ¥ Osteoarthritis

B. # Diabetes

C. # Ischaemic Heart disease

D. ¥ Cancer

Question Number : 232 Question Id : 6009299475 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Hrerar fafafad Tt Sl &1 HRoT g1 9 7, Riaw:
Options :

A. % Sffygenfd

B. ¥ AYUg

C. % 3RPHD g I




D. ¥ $IW

Question Number : 233 Question Id : 6009299476 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Night blindness is one of the first signs of vitamin deficiency.
Options :

A ¥ A

B. % C

C.*D

D. ®# E

Question Number : 233 Question Id : 6009299476 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

el faerfom @1 HH! & U5 A&l H 9 TH g
Options :

A. YT (A)

B. % i (C)

C. % 81 (D)

D. ¥ % (E)

Question Number : 234 Question Id : 6009299477 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Percussion-oriented massage involving striking of soft tissues with repetitive blows, using both hands in a rhythmic, gentle and rapid fashion is
called

Options :

A. % Petrissage
B. ¥ Tapotement
C. # Traction

D. # Deep Friction



Question Number : 234 Question Id : 6009299477 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

draarg-fies Arferr ford dueg, HIHd SR dol dXids I GIH! g1l &1 SUIRT & U SR aR Iedh o HIAd SHad! IR GaTd §H]
e 8, 39 g1 A g |

Options :

A. ® USRS

B. ¥ CUICHC

C. % Hpyu

D. % g gyl

Question Number : 235 Question Id : 6009299478 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following joints in the human body has a Ball and Socket type joint?
Options :

A. * knee

B. # ankle

C. ¥ shoulder

D. # elbow

Question Number : 235 Question Id : 6009299478 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HMg TRR § Fefefad 3 9 feg 9 3 S ueR @1 9 g 2
Options :

A. # YAl

B. ® <4l

C. ¥ B

D. ¥ Higl



Question Number : 236 Question Id : 6009299479 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
means how far a joint moves without assistance. This motion consists of how far you can move your joint in any given

direction.
Options :

A. % RST
B. # Static
C. ¥ PROM
D. ¥ AROM

Question Number : 236 Question Id : 6009299479 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

&1 31 B o1 TeTaar & U Y bt @R b Rt 81 39 7ifal o g <yt @ fob oy fopdt oft famm & ot Wiy oy
forcl QR d of o Ahd G|

Options :

A. ¥ IR TY I (RST)

B. % Xfew

C. * UI3{R3MTH (PROM)

D. ¢ U3R3MTH (AROM)

Question Number : 237 Question Id : 6009299480 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
After a fracture, can restore the position of a bone during the early stage of healing or temporarily ease the pain.

Options :

A. ¥ Traction
B. # Effleurage
C. % Tapotement
D. # Petrissage



Question Number : 237 Question Id : 6009299480 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IR P 1g, SUAR & TR IR0 & SR Y HT FRUTY ) G- R T § A1 SRRt &0 § feT &1 1
IR FHA 3|

Options :

A. ¢ GHYTT

B. ¥ TWegYSl

C. % TUICHS

D. ¥ USRSl

~

Question Number : 238 Question Id : 6009299481 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The another name of Shuttlecock used in badminton is
Options :

A. #* Flower

B. ¥ Birdie

C. # Eagle Blad

D. #¥ Kokkubra

Question Number : 238 Question Id : 6009299481 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SSfiie ® Ugad eahich B guRT I1H &l
Options :

A. % TIIaR

B. ¥ §af

C. % A 1S

D. # DIFHeR]



Question Number : 239 Question Id : 6009299482 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

With which sport is a shot clock usually associated?
Options :

A. ¥ Basketball

B. ® Wrestling

C. # Boxing

D. * Weightlifting

Question Number : 239 Question Id : 6009299482 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
gITe Flih AR R fd Wl § et 52
Options :

A. ¢ SRbedA

B. ¥ Hudl

C. % TaPbamit

D. ¥ YRR

Question Number : 240 Question Id : 6009299483 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A snickometer is utilised in which of the following sports?
Options :

A. ¥ Boxing

B. ¥ Cricket

C. % Equestrians Sport

D. # Hiking

Question Number : 240 Question Id : 6009299483 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

fafafea o I fog ©a o fRaeiiex &1 Suan fear sdr g2
Options :

A. % TadbdaTall

B. ¢ fhdbe

C. ¥ YSYIRI Wd

D. ¥ grafdh
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Question Number : 241 Question Id : 6009299484 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A stimpmeter is used in which of the following sports?
Options :

A. % Track and Field

B. ¥ Golf

C. % Horse Racing

D. # Air pistol shooting

Question Number : 241 Question Id : 6009299484 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafafed & 3 forg wa o Rerwitex &1 T e S g2
Options :

A. % TH TIE Bics

B. ¥ Tcth

C. % NI DI

D. % TR fUwed i

Question Number : 242 Question Id : 6009299485 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The number of elements in the obtained sample is called
Options :

A. # Sample Design

B. # Sampling frame

C. ¢ Sample Size

D. # Sampling Unit



Question Number : 242 Question Id : 6009299485 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T A & deal B Sl &l HEI o g |
Options :

A. % Jud fessA

B. ® e ha

C. v Jud 98

D. * Jufehr gfie

Question Number : 243 Question Id : 6009299486 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Sampling in which elements are grouped together because they share certain characteristics is

Options :

A. *# Cluster Sampling

B. ¢ Stratified Sampling
C. # Systematic Sampling
D. #* Random Sampling

Question Number : 243 Question Id : 6009299486 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fufer foraw uferie &) e A1y Tl foar ST § Fifes 3 $o faRwarsit &1 wmgn o €, I8 g
Options :

A. ¥ R HUfehT

B. ¥ RfCWIgs Jufei

C. % Rchfes dufei

D. % Y37 Hufci



Question Number : 244 Question Id : 6009299487 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is Probability sampling ?
Options :

A. * Dimensional Sampling

B. # Snowball Sampling

C. # Purposive Sampling

D. ¥ Cluster Sampling

Question Number : 244 Question Id : 6009299487 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Rrafefed & @ o1 a daffee Sofin 2
Options :

A. % STOHRFEA Hufei

B. % Haid Jufeii

C. % TR e

D. ¥ FeeR Hufef

Question Number : 245 Question Id : 6009299488 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is Non-Probability sampling ?
Options :

A. ¥ Cluster Sampling

B. # Stratified Sampling

C. ¥ Voluntary response

D. # Dimensional Sampling

Question Number : 245 Question Id : 6009299488 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
PR & & & & AR SofiT g
Options :

A. % FAER U

B. ® Xfewgs Jufer

C. ¥ dldicdl Wi

D. ¥ SHRH JufelT

Question Number : 246 Question Id : 6009299489 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sampling method chosen when the members of a special population are difficult to locate is
Options :

A. # Dimensional Sampling

B. ¥ Snowball Sampling

C. # Purposive Sampling

D. # Systematic Sampling

Question Number : 246 Question Id : 6009299489 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

O U IRy SHReAT & Wl o1 UdT T G366 d gidl § df 0 i Siralt gt fafer gl
Options :

A. % UM dafeiT

B. ¥ A&rd JafeiT

C. % TRURY HufeRT

D. % Rcafes Jufei

Question Number : 247 Question Id : 6009299490 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Which of the following is not an advantage of Sampling?
Options :

A. # Sampling saves time and money

B. # Sampling saves labour

C. # Sampling coverage permits a level of adequacy

D. ¢ Sampling can be a perfect substitute for census

Question Number : 247 Question Id : 6009299490 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafefad o 9 i 1 Jufer &1 oy Tt 82
Options :

A. * JufehT g9y 3R 4= saTaT 8

B. % JUfelT 9H ST 8

C. % JufeT Hax Faitddl & TR &1 ATHfS a1 8
D. « JUfelT UM & forg 3iref fadwed gt gadn |

Question Number : 248 Question Id : 6009299491 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
One standard deviation on either side of the mean for the normal distribution accounts for of the set.

Options :

A. ¥ 78.27 percent
B. ¥ 88.27 percent
C. ¥ 98.27 percent
D. ¥ 68.27 percent

Question Number : 248 Question Id : 6009299491 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I faaRur o o A1eg & a1 3R U A faaa- A &1 gl

Options :



A. ¥ 7827 Ufa=rd
B. ¥ 88.27 Ufa=Id
C. % 98.27 Ufa=rd
D. ¥ 68.27 Ufa=Id

Question Number : 249 Question Id : 6009299492 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In statistics, is a type of data that is used to label variables without providing any quantitative value.
Options :

A. ¥ Nominal Data

B. # Ordinal Data

C. # Interval Data

D. # Ratio Data

Question Number : 249 Question Id : 6009299492 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Tiee! H, TH UHR &1 Sl ¢ ol STNT foHT dis AT T UaH it @i &1 3ifdrd - & e faran Sran g1
Options :

A. ¢ AIEAd STeT

B. ¥ SIS ST

C. ¥ 3[RTd STeT

D. ® 3{qUid SIcl

Question Number : 250 Question Id : 6009299493 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The range of the values -3, -8, -1, 0, 6, 1 is:
Options :

A. ¥ 14



B. * 0
C. %38
D. ® 6

Question Number : 250 Question Id : 6009299493 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A1 -3, -8, -1, 0, 6, 1 Bt Aol &
Options :

A ¥ 14

B. * 0

C. %38

D. * 6

Question Number : 251 Question Id : 6009299494 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is not the feature of symbols assigned to categories on a nominal scale?
Options :

A. # No Quantitative Measures

B. #* Nothing more than Labels or Names

C. # May be ordered according to magnitude

D. # Cannot be subjected to arithmetic operations

Question Number : 251 Question Id : 6009299494 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafaa & § oF 1 gikfas Ao @A Thd) IR AT & fou Ay udie! o fagar 78t 82
Options :

A * cb\lsr HEATHD IUTT ol

B. ¥ Q9 19 ¥ SUTel $3 e




C. % ORI & AR ey a1 ST 9dar g
D. ¢ B0 Tfcharafi & e a1 foam S Tevalm

Question Number : 252 Question Id : 6009299495 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which is the preferred measure of dispersion that can be computed in case of open - end classes ?
Options :

A. # Standard Deviation

B. ¢ Quartile Deviation

C. # Coefficient of variation

D. ¥ Range

Question Number : 252 Question Id : 6009299495 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

®I 1 TREYUT &7 TRicteT AT § fores! 10T Had-3id 9l & HIHa § & o Jdbalt 82
Options :

A. * A fa<em

B. ¢ Iqde faga

C. * fdgeH & g - Yol

D. # 39

Question Number : 253 Question Id : 6009299496 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The standard deviation is independent of:
Options :

A. ¥ Change of origin

B. # Change of origin and scale of measurement

C. # Change of scale of measurement



D. # Neither change of origin nor change of scale

Question Number : 253 Question Id : 6009299496 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Ao fama FE A g &

Options :

A. ¢ IAfRI &1 uRadH

B. % Iy &1 URadH 3R AT 6T TR

C. ® A9 & TR H uRadd

D. % Td T BT URad 3R 7 g1 AT BT gRac

Question Number : 254 Question Id : 6009299497 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
distribution is a discrete frequency distribution which gives the probability of a number of independent events occurring in

a fixed time.
Options :

A. ¥ Poisson
B. ¥ Normal
C. ® Binomial

D. # chi square

Question Number : 254 Question Id : 6009299497 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fIoRUr U Srraa sngfy faarur 8 off tes fAfyd wa o 19 arelt %2 s ge-st & i g1 g |

Options :
A. ¥ @l
B. % YR

C. % fgug



D. ¥ HE-ail

Question Number : 255 Question Id : 6009299498 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What will be the probability of getting odd numbers if a dice is thrown?
Options :

A. ¥ 1\2

B. % 2

C. % 422

D. # 5\1

Question Number : 255 Question Id : 6009299498 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS UTY ! b IR IuH HReATY o1 BT Uiiyehelt o gRie
Options :

A. ¥ 1\2

B. % 2

C. % 422

D. # 5\1

Question Number : 256 Question Id : 6009299499 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A digraph that has no self-loop or parallel edges is called a

Options :

A. ¥ Simple Diagraph
B. # Bi Diagraph

C. # Complete Diagraph
D. # Regular Diagraph



Question Number : 256 Question Id : 6009299499 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T SR S Teth-qu a1 GHFIR bR T8 8ld & 39 CASIGI
Options :

A. ¥ IR STYUTh

B. * fg STOUT®

C. % ol SU%

D. ¥ ffid STuTw

Question Number : 257 Question Id : 6009299500 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The binary of the decimal number 23 is

Options :

A. % 11111
B. # 10011
C. # 11011
D. ¢ 10111

Question Number : 257 Question Id : 6009299500 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TRITETd T 23 BT AT gl
Options :

A. # 11111

B. # 10011

C. # 11011

D. # 10111

Question Number : 258 Question Id : 6009299501 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following programming languages is an architectural neutral language because it is capable of running on any given processor?
Options :

A. ¥ Python

B. ¥ Java

C. # Ruby

D. * Blocky

Question Number : 258 Question Id : 6009299501 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frofefad o ¥ 1 T vienfE yre snfdeaere <ged 1T § aaifes g8 felt +ft TR W ram o wem 82
Options :

A. #= Iy

B. ¢ S[dl

C. % Tdl

D. % st

Question Number : 259 Question Id : 6009299502 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The shortcut key to select a row in an excel file is

Options :

A. ¥ Shift+Space
B. # Ctrl+Space
C. # Shift+F2
D. # Ctrl+F2

Question Number : 259 Question Id : 6009299502 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

A. ¥ RIUe+Tg

B. ¥ Ctrl+¥g

C. % Re+r2

D. ¥ Ctrl+F2

Question Number : 260 Question Id : 6009299503 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is the full form of USB?

Options :

A. % Unshielded System Board

B. # Universal System Board

C. # Unidentified System Bus

D. ¢ Universal Serial Bus

Question Number : 260 Question Id : 6009299503 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
g T &t (USB) &1 YUl 7= &1 52
Options :

A. % 3Fiee s Rea s

B. ® gHad ReA S8

C. % 3M3MESiCHhiEs ReH 59

D. ¢ gHadd dikad a9
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Group Maximum Duration : 0
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Edit Attended Group? : No

Break time : 0

Group Marks : 20
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Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
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Question Shuffling Allowed : Yes

Question Number : 261 Question Id : 6009299504 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A gigabyte is . Choose the best option.
Options :

A. ¥ 1,073,741,824 bytes

B. # 1,048,576 bytes

C. # 1,024 bytes

D. # 1,099,511,627,776 bytes




Question Number : 261 Question Id : 6009299504 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

hmerge o TeY 3= fadhed &1 Ig B |
Options :

A. ¥ 1,073,741,824 S13cH

B. ® 1,048,576 S13cY

C. % 1,024 §13cY

D. ® 1,099,511,627,776 ST3¢H

Question Number : 262 Question Id : 6009299505 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following languages does a computer understand?
Options :

A. # Java Language

B. # C Language

C. ¥ Binary Language

D. # Object Language

Question Number : 262 Question Id : 6009299505 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Hex fFafafea & 9 oF Iy 9@ 82
Options :

A. % IIdT HIYT

B. # C HNI

Question Number : 263 Question Id : 6009299506 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
The cache memory works between
Options :

A. # ROM and CPU

B. # RAM and ROM

C. ¥ CPU and RAM

D. # Secondary Memory

Question Number : 263 Question Id : 6009299506 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
& AA & o9 B HRal B
Options :

A. % 37 3R g

B. ¥ X0 3R IH

C. ¥ Ty 3R |

D. ® TIor Jfdf

Question Number : 264 Question Id : 6009299507 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A Range of motion in and around the joints is known as
Options :

A. * Strength

B. ¥ Flexibility

C. % Speed

D. # Balance

Question Number : 264 Question Id : 6009299507 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

A. ® faq

B. ¥ T

C. % Tfq

D. ¥ HdeH

Question Number : 265 Question Id : 6009299508 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

An contraction results in the elongation of a muscle while the muscle is still generating force; in effect, resistance is greater
than force generated.

Options :

A. ¥ Eccentric
B. # Concentric
C. # Isotonic

D. # Isometric

Question Number : 265 Question Id : 6009299508 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Tpa & IRV U=t &7 fawaR gYa & wrafds Uit anft ot o Ieuet o= 361 gt &; araa &, uferiy Suat fhu T aa @
3t grar g |
Options :
A. ¥ THifeD
B. % b
C. # JMAeI®
D. % 3EqHicH

Question Number : 266 Question Id : 6009299509 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Pushing against the stationary wall is an example of
Options :

A. # Isokinetic contraction

B. ¥ Isometric Contraction

C. # Isotonic Contraction

D. # Eccentric Exercise

Question Number : 266 Question Id : 6009299509 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

R laR & R eaep1 &, CARCTALR I
Options :

A. % 3ZHIBIZAICH DIgaRH

B. ¥ 3MSHMfH BlgaRM

C. ¥ 3TZHICIAD BlcaR

UaN

D. ¥ Uif¢dh U

Question Number : 267 Question Id : 6009299510 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which flexibility training methods tricks the receptor organs in the muscles and joints allowing the limbs to increase their range of movements?
Options :

A. # Active stretching

B. # Passive Stretching

C. ¥ PNF Stretching

D. # Static Stretching

Question Number : 267 Question Id : 6009299510 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

A. % Ufdea R

B. * ORya R

C. ¢ U TT TH (PNF) ¥¢fT
D. # Wfew R

Question Number : 268 Question Id : 6009299511 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which intense stretching method uses bouncing movements to push your body beyond its normal range of motion?
Options :

A. # Relaxation Method

B. ¥ Ballistic Method

C. # Slow Method

D. # Slow Stretching and Holding Method

Question Number : 268 Question Id : 6009299511 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3T IR DI T &1 FHR WA Y W Yhaq o (o I At g R Al Seam ot mfafafd &1 Suam et g2
Options :

A. * fayr fafg

B. ¢ dfeifes fafd

C. ® i fafy

D. # ¢firft Rfd 3R g fafy

Question Number : 269 Question Id : 6009299512 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who first propounded the theory of social evolution?
Options :



A. ¥ Herbert Spencer
B. # Charles Darwin
C. % Aristotle

D. # Montesquieu

Question Number : 269 Question Id : 6009299512 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

JauyH fa gt faerg o1 Rigia ufauifed fean
Options :

A. ¥ B WW

B. # e S1fdA

C. % 3R

D. ¥ T

Question Number : 270 Question Id : 6009299513 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Embarrassment, shame, ridicule, sarcasm, criticism, disapproval, social discrimination, and exclusion are all sanctions.

Options :

A. # Informal
B. ®# Formal
C. # Positive
D. ¥ Negative

Question Number : 270 Question Id : 6009299513 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

wiftfeft, T, SUBTY, Fete, SMaraT, R, raTfore HeHTE, 3R SR T ufasy g1
Options :

A. % ARG




B. ¥ 3NUATR®
C. ¥ gHRIAD
D. ¢ THRIAD

Question Number : 271 Question Id : 6009299514 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Autogenic training is a technique

Options :

A. % to identify causes of mental stress

B. # to identify areas of physical strain in the body
C. ¥ to bring about relaxation in body

D. # to adjust abnormality

Question Number : 271 Question Id : 6009299514 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SIS TfRIgon & foIT U da1 5 |
Options :

A. % HHRYS T & HRUN DI Ugd B & oy

B. % YRR H RIS d-1d & &1 DI Ugd B o fey
C. ¥ YRR T 3RM A & forg

D. ¥ S Sl GHIN B & ferg

Question Number : 272 Question Id : 6009299515 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
are standards of social behaviour derived from social interaction and accepted as constituent facts of social structure

Options :
A. # Patterns
B. ¥ Values



C. * Roles
D. # Actions

Question Number : 272 Question Id : 6009299515 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ARSI STIER & A & ol AIHISIS YU I YT §U & SR T WReHT & Uew i & © 0 § WeR fey T gl
Options :
A. % T
B. ¢ gl
C. % YAPHIY
D. % HRAS

Question Number : 273 Question Id : 6009299516 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is the doctrine that actions are right if they are useful or for the benefit of a majority.

Options :

A. % Deontology

B. ®# Moral relativism
C. # Natural Law

D. # Utilitarianism

Question Number : 273 Question Id : 6009299516 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3nfIeTiRes 7 & i & 9 § afe 3 Sy § ar sgaiferes & v & R g
Options :
A. % BHcofaqH
B. ¥ Afq% AU&dTg
C. ® Urdpids fFam



D. ¢ JUTINIdarG

Question Number : 274 Question Id : 6009299517 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is a painful condition that affects the small, fluid-filled sacs that cushion the bones, tendons and muscles near your joints.

Options :

A. # Sclerosis.
B. # Arthritis

C. # Psoriasis
D. ¥ Bursitis

Question Number : 274 Question Id : 6009299517 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
HISTerIs TR ] Sl 3MTUS SIS & UTg Bt SR, HUS 3R ARGURR B TR B34 arell D), ga F 3t Aeft 1 yvrfad
B g

Options :

A. % RN
B. % Y=y
C. % BT INT

D. ¥ §Ui3ed

Question Number : 275 Question Id : 6009299518 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The force experienced by a spinning ball as it moves through the air is called

Options :
A. ¥ Magnus Force
B. # Contract Force

C. % Tensile Force

D. # Compressive Force



Question Number : 275 Question Id : 6009299518 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

A. ¥ Y §d

B. ¥ 39y dd

C. % dgdd

D. ¥ IUlsd 9d

Question Number : 276 Question Id : 6009299519 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
When a person performs a somersault they rotate around the
Options :

A. # Transverse Plane
B. # Sagittal Plane
C. # Vertical axis

D. ¥ Frontal axis

Question Number : 276 Question Id : 6009299519 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Wd Bl AT GIHRYTee HRaT g ot 3 & IRY SR TR AT & |
Options :

A. ¥ TR @A

B. ¥ TRd @i

C. ® glfopd iy

D. ¥ Thed 3feRiTy



Question Number : 277 Question Id : 6009299520 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Carpo Metacarpal joint is an example of

Options :

A. # Gliding Joint

B. # Ball and Socket Joint
C. ¢ Saddle Joint

D. # Condyloid Joint

Question Number : 277 Question Id : 6009299520 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
HIAHCIHIId Sliee 1 T IR0 ¢ |
Options :

A. % RIS ST

B. ¥ §id US Tlde lisc

C. ¥ Jsdvige

D. ¥ $oldiss dlsc

Question Number : 278 Question Id : 6009299521 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
branch of classical mechanics that concerns the effect of forces and torques on the motion of bodies having mass

Options :

A. ¥ Kinetics

B. ®# Kinematics

C. ® Biomechanics
D. #* Fluid Mechanics

Question Number : 278 Question Id : 6009299521 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
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Options :

A. ¢ Saidep!

B. ¥ Y[ T

C. ® Sguifie! [@He )

D. ¥ qRd it

Question Number : 279 Question Id : 6009299522 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is a movement away from the midline of the body. This occurs at the hip and shoulder joints during a jumping jack movement.

Options :

A. ¥ Abduction

B. # Adduction

C. # Circumduction

D. #* Dorsiflexion

Question Number : 279 Question Id : 6009299522 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TR BT T 3@ W R U 7S B 1 T8 ST S T b SR Feg 3R HY b Siiel H glar g
Options :
A. ¥ USSR
B. # USSHTA
C. * MNPHSKIT
D. % grHlRifegg

Question Number : 280 Question Id : 6009299523 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Muscle which cause the joints to bend are called
Options :

A. ¥ Flexors

B. # Extensors

C. ® Abductors

D. # Adductors

Question Number : 280 Question Id : 6009299523 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Options :
A. ¥ TRIFY
B. ¥ Yoy
C. % UsSRR
D. ¥ TSSHKW
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Question Shuffling Allowed : Yes

Question Number : 281 Question Id : 6009299524 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who is well known for the concept of Zone of Proximal Development ?
Options :

A. #* Ivan Pavlov

B. ¥ Burrhus Frederic Skinner

C. # Albert Bandura

D. ¥ Lev Vygotsky

Question Number : 281 Question Id : 6009299524 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

DI R & FHIfad & (S 3T MRTH SaauHc) Fi THRUN b fore ufrg 82
Options :

A. * ZIF UG

B. ¥ §g heRd R

C. ¥ 3[eqC 95X

D. ¢ f7a arg Tl



Question Number : 282 Question Id : 6009299525 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In 1931, who wrote a thesis entitled, 'The concept of the Reflex in Description of the Behaviour' ?
Options :

A. ¥ Burrhus Frederic Skinner

B. % Edward Lee Thorndike

C. % Ivan Pavlov

D. # Sigmund Freud

Question Number : 282 Question Id : 6009299525 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1931 H, g BI-9Y 30 & Rukicd 3 FSfRpw sifts ¢ fogfaer 2t arar nufdy forae ferar um
Options :

A. ¢ T heR® ReR

B. ¥ TSds ol YHS8®

C. % 31 Uradld

D. * RyHs Brg

Question Number : 283 Question Id : 6009299526 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Who conducted the 'Bobo Doll' experiment?
Options :

A. % Ivan Pavlov

B. # Louis Lee Thurstone

C. ¥ Albert Bandura

D. # Robert J.Stenberg

Question Number : 283 Question Id : 6009299526 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
forg diel STar U fobar

Options :

A. % 39 Uraeila

B. ¥ Ty o Y¥A

C. ¥ 3ede agX

D. % J[e¢ o WA

Question Number : 284 Question Id : 6009299527 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
has two components which are knowledge about cognition and regulation of cognition.

Options :

A. % Schema

B. # Speech

C. ¥ Metacognition
D. # Language

Question Number : 284 Question Id : 6009299527 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& a1 Ued & o 3Y( 3R Syfa & RoaT s IR AT B

Options :

A. % T

B. # YU

C. ¢ TTDIIRH
D. ¥ YHIy[

Question Number : 285 Question Id : 6009299528 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Name the function of Language which encompasses the expression of ideas, concepts and thoughts.
Options :

A. ¥ Cognitive

B. # Affective

C. # Descriptive

D. # Directive

Question Number : 285 Question Id : 6009299528 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

A. ¢ GIATHD

B. # YldIHD

C. % qUHATHD

D. ¥ =D

Question Number : 286 Question Id : 6009299529 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which feature of Discussion there is an interaction among the various members where they see, hear and communicate orally by paying
attention to each other?

Options :

A. # participation
B. ¥ interface

C. # conflict

D. * interpersonal attraction

Question Number : 286 Question Id : 6009299529 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

A. ® YT

B. ¢ 3RIUY

C. ¥ g

D. ¥ URIR® By

Question Number : 287 Question Id : 6009299530 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The social and cultural definitions of men and women are called
Options :

A. % Sex

B. # Identity

C. ¥ Gender

D. * Society

Question Number : 287 Question Id : 6009299530 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

A. % Il

B. # UgdlHd

C. ¢ fefm

D. ® {HNS

Question Number : 288 Question Id : 6009299531 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
is a cross-country measure of discrimination against women in social institutions.

Options :



A. ¥ Social Institution and Gender Index (SIGI)
B. ¥ Gender Inequality Index (GII)

C. # Gender Parity Index

D. # Gender Gap Index

Question Number : 288 Question Id : 6009299531 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TS SRi13f H Afgarsii & ufd HeHTa o1 &9UR U 3|
Options :
A. ¢ TS G T4 o1 Yaamid
B. % W% SRIHMAT Jadhic
C. ® oI qHH=d Gadhih
D. % Wi R Jadhics

Question Number : 289 Question Id : 6009299532 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which one of the following is a numerical concept concerned with the relative equality in terms of numbers and proportions of women, men,
girls and boys?

Options :

A. # Gender mainstreaming
B. ¥ Gender parity

C. # Gender equality

D. # Gender analysis

Question Number : 289 Question Id : 6009299532 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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?

Options :



A. ¥ SIeX TRCIfHT
B. ¢ Wi THMaT
C. ® oI gu=uar
D. % o fo=ayor

Question Number : 290 Question Id : 6009299533 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In which step of test construction, method of scoring is decided?
Options :

A. # Planning for the test

B. ¥ Preparing the test

C. # Analysing the test

D. # Revising the test

Question Number : 290 Question Id : 6009299533 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TRIEf0T A0 & fopet =Ror & Heiee fafd qg ot et g2
Options :

A. % TRI&T o TeTT Y1 ST

B. ¢ G &1 ARl

C. * & o1 fazawur

D. ¥ U&7 BT GRI&0T BT

Question Number : 291 Question Id : 6009299534 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
has to do with the consistency, or reproducibility, or an examinee's performance on the test.

Options :
A. # Validity



B. ¥ Reliability
C. * Fairness
D. # Legal Defensibility

Question Number : 291 Question Id : 6009299534 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

A. % QYT

B. ¢ fay-iad
C. % fwerr

D. ¥ DT GRE&T

Question Number : 292 Question Id : 6009299535 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

From which stage did the National Policy on Education, 1986 emphasized on continuous and comprehensive evaluation and the introduction of
semester system ?

Options :

A. ¥ Primary stage

B. # Elementary Stage

C. ¥ Secondary stage

D. # Higher secondary stage
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Question Number : 293 Question Id : 6009299536 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
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Correct Marks : 1 Wrong Marks : 0.25

Which government programme aims at improving and providing quality primary education for all children?
Options :

A. #* Secondary Service Area

B. ® Sub Service Area

C. # Safe School Act

D. ¢ Sarva Shiksha Abhiyaan
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Under which model, students with special needs spend most or all of their time with non-disabled students?
Options :

A. ¥ Inclusion

B. # Exclusion

C. # Integration



D. * Mainstreaming
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A student with cerebral palsy may not have the ability to grasp and turn a traditional doorknob. Which factor of inclusion is affected here?
Options :

A. # Mis-information

B. ¥ Accessibility

C. # Cooperation

D. # Educational modification
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Question Number : 296 Question Id : 6009299539 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
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Correct Marks : 1 Wrong Marks : 0.25
According to Sigmund Freud, is 'the libidinous compliments of egoism'.

Options :

A. ¥ Repression
B. # Semantics
C. # Sociometry
D. # Narcissism
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reasoning transcends perception and memory and deals with things not in the realm of direct experience.

Options :

A. ¥ Hypothetical
B. # Analogical
C. # Deductive

D. #* Transductive
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Which approach explains personality in terms of changes in behaviour that takes place throughout one's life?
Options :

A. ¥ Trait Approach

B. # Psychoanalytic Approach

C. ¥ Life-span approach

D. # Humanistic Approach
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What utilizes skills across the range of dramatic activity, everything from teacher-in-role to normal theatrical conventions of audience and
spectator?

Options :

A. ¥ Educational Drama
B. # Image theatre

C. # Formal theatre

D. # Invisible Theatre
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Inclusion of Art and Drama in education is well supported by theory of Multiple Intelligence.

Options :

A. #* Burrhus Frederic Skinner
B. ¥ Howard Gardner

C. # Albert Bandura

D. # Lev Vygotsky
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